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Question Number : 1 Question Id : 9277594220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

65 :74 ::40:?
Options :

1. # 48

2.9 49

3. % 50

4. % 51



Question Number : 1 Question Id : 9277594220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

65 :74 ::40:?
Options :

1. # 48

2.¥ 49

3. % 50

4. % 51

Question Number : 2 Question Id : 9277594221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Copper
2. * Nickel
3. * Silver

4. ¥ Todine

Question Number : 2 Question Id : 9277594221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ & T AT ai% I UM &1 gTiiey, U [Ahed 370 A9 &1 aRE 81 8| 39 A ey &1 T &3 i 370 T 3cT g |
Options :

1. % did

2. % Fod

3. % idt

4. ¢ IS




Question Number : 3 Question Id : 9277594222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1.¥ K
2. % X
3. % R
4. % N

Question Number : 3 Question Id : 9277594222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & e Rfyd % T TuH 81 gTlTe, T faeed 3/ diF ot aRE Tl ¢ | 39 A et o1 I &Y oY 30 ¥ 3T B
Options :

1.¥ K

2. % X

3.# R

4. % N

Question Number : 4 Question Id : 9277594223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

AZOM, CXQK, EVSI,
Options :

1. ® FTTJ

2. % GTUJ

3. ¥ GTUG

4. % GUTG



Question Number : 4 Question Id : 9277594223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad aR e o Q1

AZOM, CXQK, EVSI,
Options :

1. = FTTJ

2. % GTUJ

3. ¥ GTUG

4. = GUTG

Question Number : 5 Question Id : 9277594224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

111, 100, 87, 71, 55, 36
Options :

1.¥ 71

2. % 87

3. % 55

4. % 36

Question Number : 5 Question Id : 9277594224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIEEICHIR RIGGR RIS 2

111, 100, 87, 71, 55, 36
Options :
1.¥ 71




2. % 87
3. %55
4. % 36

Question Number : 6 Question Id : 9277594225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement:
A<B>C>D;A>E=F<G
Conclusions:

I.B>F

II. B=F

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Either conclusion I or II follow

4. % Both conclusion I and II follow

Question Number : 6 Question Id : 9277594225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § U Sy fear mar 8, g a1 gl fAsw e [ 3R 11 fau U § 1 3mueh! 39 HUA &) I AT 8, YA 81 I8 ITHId: J1d a2 3 i
Tdid 81 et T fofg &+ B fop faw e fse st 7 @ & 1, afe 1S 8,  f3T U Sy § | 3 wRur ST 3

HY:
A<B>C>D;A>E=F<G
Ty

I.B>F

II. B=F

Options :

1. % $Had FT5HY [ 3FIERU Sl §



2. % Had (DY I1 SR Hal §
3. AT Al Fpe 1 37 11 SR Rl §
4. % 5By [ 3R 11 QT SITERUT Rd §

Question Number : 7 Question Id : 9277594226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends Anil, Babita, Chaman, Dhoni, Ellen and Farukh are going to college. Ellen is only older than Anil and Babita but shorter than only
Farukh. Dhoni is younger than only Farukh & taller than only Anil & Babita. Neither Anil is youngest nor Babita is the shortest one. How many
friends are there who occupy same position in both orders?

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 7 Question Id : 9277594226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o8 o 3ifaet, Feidr, T4, 91, T 3R BReE HeIfdeTerd o 38 & | Ta had 31 iR geiiar 9 9t g Afh- had Bred ¥ BT B
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 8 Question Id : 9277594227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following are the criteria for selection of a Management Trainee.



The candidate must -

a - Be a graduate in any discipline with at least 72% marks.

b - Not be less than 21 years and not more than 25 years of age.

c - Have cleared the written test and interview with at least 70% marks.

d - Be willing to pay a deposit of 50,000 rupees which is to be refunded on completion of training.

However, if all of the above said criteria is satisfied except -

I - At (a) above, but has completed post graduation with at least 65% marks , the case will be referred to the Director.

IT - At (d) above, but has an experience of working in this field for more than a year, the case may be referred to the Manager.

Sumit has done BBA from a government college with 74% marks and his score in the written test and interview is 75%. His age is 25 years and
has an experience of 2 years in this field. He is not willing to pay a deposit of Rs. 50,000.

Options :

1. # The candidate is selected.

2. # The candidate is not selected.

3. % The candidate is referred to Director.

4. ¥ The candidate is referred to Manager.

Question Number : 8 Question Id : 9277594227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 9277594228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A reputed educational foundation is to select meritorious students for the scholarships for higher studies abroad who fulfill the following criteria:

1. Age — More than 18 years but less than 24 years as on 1.7.2021

2. Minimum percentage of Graduation marks — 70%

3. Prizes/Awards — Should have won first prize at state level at least in Essay, Debate or Sports.

4. Annual family income — Not be more than Rs. 2,50,000

5. Domicile — Must be staying in India for the last 18 years or above as on 1.7.2021

However, if the candidate fulfills all the above criteria except

1. (3), but has secured second rank in essay/debate/sports competition at state level- the case may be referred to the Secretary of the Foundation.
2. (4) but has secured 90% marks in graduation- the case may be referred to Chairperson of the foundation.

You have to study the information provided for a candidate in the following question and decide the course of action.

Chirag who will be 23 years old on 1.1.2021, passed B.Com. with 92% marks. His father, a Government employee, has been working in Delhi
since 1989 whose present monthly income is Rs.30,000. Chirag got 1st prize in the State Essay Competition.

Options :

1. # The candidate is selected.

2. # The candidate is not selected.

3. ® The candidate is referred to secretary.

4. ¥ The candidate is referred to the chairperson.

Question Number : 9 Question Id : 9277594228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 10 Question Id : 9277594229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the given series:

53,55, 113,343,
Options :
1. % 1377
2. % 1367
3. % 1357
4, % 1387

Question Number : 10 Question Id : 9277594229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 T8 ofaar H ST 1 B

53,55,113,343,
Options :




1. ¥ 1377
2. % 1367
3. % 1357
4. % 1387

Question Number : 11 Question Id : 9277594230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following question is based on the five three-digit numbers given below.
283 395 768 534 187
If the positions of the first and the second digit within each number are interchanged, which of the following will be the second highest number?

Options :
1. ¥ 283
2. % 395
3. % 768
4. % 534

Question Number : 11 Question Id : 9277594230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy = Rw v uig -3 g T iR smeid g
283 395 768 534 187
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Options :
1. ¥ 283
2. % 395
3. % 768
4.% 534

Question Number : 12 Question Id : 9277594231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many such letters are there in the word BLOKEISH each of which is as far away from the beginning of the word as it is from the beginning
of the English alphabet?

Options :
1. # One
2. ¥ Two
3. # Three
4. * Four

Question Number : 12 Question Id : 9277594231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y[eG BLOKEISH B U¥ fohaH 31&R & foFH ¥ U 31&R Xeq & URH I ST 81 G & fora1 1o St quiTe & IRY 4 R 82
Options :

1. # Uh

2.¥3Q

3. % dF

4, % IR

Question Number : 13 Question Id : 9277594232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read all the information and an answer to the question.

A + B means 'A is the mother of B';

A— B means 'A is the brother of B';

A x B means 'A is the father of B';

A + B means 'A is the daughter of B';

How is C related to E in the expression A —B + C x D + E?

Options :

1. ¥ Husband
2. ® Wife

3. % Father
4. ¥ Brother



Question Number : 13 Question Id : 9277594232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A+BHT AR A, BPIAMCIR,

A-BBHTHSZ'A, BHTHS T
AxBHT3fR A, BHIUATR,
A-B®HT 3G 'A, B TR,

ANAFTIA —B+CxD+EHC, EY HY Gafd g2
Options :

1. ¢ Ofd

2. % gl

3. % foar

4. % g

Question Number : 14 Question Id : 9277594233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D, C, B and A are sitting around a table facing each other. They like different Colours Yellow, Blue, Black, Red.

(1) D sits opposite to person who likes black.

(2) C sits immediate right to the person who likes Blue.

(3) The person who likes Yellow is on the left of the person who likes Red.
(4) A sits opposite B who doesn't like Yellow.

Who likes Red?
Options :
1.¥D

2.% C

3. B

4. % A



Question Number : 14 Question Id : 9277594233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥D

2. % C

3. % B

4. % A

Question Number : 15 Question Id : 9277594234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Train A crossed a man in 12 seconds and crossed a train B running in the opposite direction in 24 seconds. If the length of train B is double of the
length of train A and speed of train B is 54 km/h, then find the speed of train A.

Options :

1. * 90 km/hr
2. % 75 km/hr
3. % 100 km/hr
4. ¥ 108 km/hr

Question Number : 15 Question Id : 9277594234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YS! A Uh fed BT 12 Y H UR Bl § MR f[AuRia e & g W ITS! B &l 24 Vb H UR Bl ¢ | Tl YS! B Hi dalls
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Options :



1. * 90 km/hr
2. ® 75 km/hr
3. % 100 km/hr
4. % 108 km/hr

Question Number : 16 Question Id : 9277594235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

2.¥



Question Number : 16 Question Id : 9277594235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS IR 3BT H A, I 3ATpTal T Ig B oG uy 3pfa B azRd g

Options :



Question Number : 17 Question Id : 9277594236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is



different from the rest.
Options :

Question Number : 17 Question Id : 9277594236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

few T Rimedl # @ & T RfYd a5 I U &1 BTlTP, T faped 3 diF o1 oRE el ¢ | 39 f[9hcd o1 I8 &Y off 30 ¥ 3T 5

Options :



Question Number : 18 Question Id : 9277594237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the correct mirror image of the given figure?

Options :



3. ¢

Question Number : 18 Question Id : 9277594237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Teh SUUT Y AT AB TR T 91T §, Y STR 3MTpfa & J B Y &} 18 3pfa bt et guor 33 82

Options :



Question Number : 19 Question Id : 9277594238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following Venn Diagram, the triangle represents 'females', the circle represents 'mammals', the square represents 'males' and the rectangle
represents 'humans'.
Which set of letters represents mammals that are humans or females but not males?

Options :

I.* Cand D

2.% Cand G

3. % Gand |

4, % [,D,Cand B

Question Number : 19 Question Id : 9277594238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 20 Question Id : 9277594239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cube is made by folding the given sheet. In the cube so formed, which of the following pairs of symbols will be on opposite sides?

Options :



Question Number : 20 Question Id : 9277594239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 7S 2ffe P HigH: 99 SR AT B 1 39 USR a4 g9 H, [gl & Fufoiad 7 @ oF O St faudia feen & gifte

Options :



2. %
3. %
4. ¢
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Id : 92775983
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 92775999
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277594240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently (in May 2021) which cyclone has hit Gujarat?
Options :

1. ® Pawan

2. ¥ Tauktae

3. # Pabuk

4. % Kyarr

Question Number : 21 Question Id : 9277594240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 81 8 (75 2021 H) ORI H I 1 <shald ST 41?2
Options :

1. # Udad

2. ¥ IS

3. % UIg®

4. % HR




Question Number : 22 Question Id : 9277594241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Anti Covid Drug developed by DRDO is named:
Options :

1. # 1-Deoxy-D-Glucose (2-DG)

2. ¥ 2-Deoxy-D-Glucose (2-DG)

3. % 3-Deoxy-D-Glucose (2-DG)

4. % 2-Deoxy (2-D)

Question Number : 22 Question Id : 9277594241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DRDO gRT fawRid tel-Hifas ST &1 M &
Options :

1. % 1-S{RI-DIIDIS (2-DG)

2. ¢ 2-SIHIR-D-TID IS (2-DG)

3. % 3-3I3{{R-D-TIH (2-DG)

4. % 2 313 2-D)

Question Number : 23 Question Id : 9277594242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the Mahayana and Hinayana?

Options :

1. # Name of the two students of Mahatma Buddha

2. ¥ Mahayana' means 'great vehicle. ' 'Hinayana' means' 'small vehicle' or 'lesser vehicle'
3. # Two major sects of Hinduism

4. ® Name of books written by the students of Mahatma Buddha

Question Number : 23 Question Id : 9277594242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

eI 3R T a1 82

Options :

1. % HETE g5 o &l sl & -

2.« T &1 314 § 'HeT™ dred | 1A &1 31 § 'BieT arg a1 ‘&Y arg
3. % fig ud & & vg@ Yuel™

4. % HEIAT g & DI gRI feiRdd Gdeh! o 1

Question Number : 24 Question Id : 9277594243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Milinda Panha is a Buddhist text that may have initially been written in which language?
Options :

1. ¥ Sanskrit

2. # Hindi

3. # English

4. ® Urdu

Question Number : 24 Question Id : 9277594243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et Ue S dy g o IR= § forg e  fora mmar g
Options :

1. ¥ T¥&pd

2. % fgdt

3. % 3l

4. % 3G

Question Number : 25 Question Id : 9277594244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Currently (As on 2021), who is the Speaker of the Lok Sabha?
Options :

1. ® Meira Kumar

2. % Sumitra Mahajan

3. % Om Puri

4. ¥ Om Birla

Question Number : 25 Question Id : 9277594244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IIAM H (2021 TP), ABTHT B e B 32
Options :

1. % ORI HAR

2. % gieET HgTeHt

3. % AR

4. ¢ 31 fgsan

Question Number : 26 Question Id : 9277594245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 71A is related to:

Options :

1. ® It provides that disputes arising out of the election of the President or Vice-President shall be decided by. the Election Commission.
2. ® It provides that disputes arising out of the election of the President or Vice-President shall be decided by. the High Court.

3. ¥ It provides that disputes arising out of the election of the President or Vice-President shall be decided by. the Supreme Court.

4. ® It provides that disputes arising out of the election of the President or Vice-President shall be decided by. the District Court.

Question Number : 26 Question Id : 9277594245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3=e 71A e d Hefa @

Options :



1. % gg YAy Rl 8 fob IFUTA I SIRIPUFA & FATd Y Il 814 aTel faaral o1 ok g1 ST g fasar S|
2. % g YIaY Pl ¢ fb YU 1 SIRIPUFA & AT A I 11 aTel fdaral o1 ok I= =grarerd g1 feran s |
3. ¢ g UI9YH &l & b Ugufal a1 IWIyufd & gH1a A 3= 814 dral fdaral &1 Fufa Seraw =amaerd gy ferar simem|
4. % g YIaYT $Hal 8 b JFUF I1 SIRIPUFA & AT Y I 814 aTel faaral o1 ok o =amarea gR1 fasar S

Question Number : 27 Question Id : 9277594246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Milkha Singh was an Indian track and field sprinter was also known as:
Options :

1. #® The Fighter Sikh

2. ¥ The Flying Sikh

3. # The Flying man

4. ® The Fighter Flying Sikh

Question Number : 27 Question Id : 9277594246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

firear Rig T YR ¢ iR Wics iR & fore 39 1 ¥ 4} ST Sira o
Options :

1. % T HrEe Rra

2. ¥ T TS g

3. % g U B9

4, % T HIgR FareT g

Question Number : 28 Question Id : 9277594247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kabaddi is the National game of which country?
Options :

1. # Russia



2. ¥ Bangladesh
3. #® Pakistan
4. # India

Question Number : 28 Question Id : 9277594247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pag! [ IR BT IR W 82
Options :

1. % Y

2. ¢ SR

3. % Oifhd™

4, % YRd

Question Number : 29 Question Id : 9277594248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the dance form which is popular in Maharashtra:
Options :

1. % Sattriya

2. # Bihu

3. % Kathak

4. ¥ Lavani

Question Number : 29 Question Id : 9277594248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T et BT 99 X ol HERTY § A1 &
Options :

1. % A

2. % fgg



3, % HYD
4.« AGUft

Question Number : 30 Question Id : 9277594249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Dadasaheb Phalke Awards is given in which field?
Options :

1. ¥ Cinema

2. # Sports

3. % Peace

4. * literature

Question Number : 30 Question Id : 9277594249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITETTRS Pledh REPR (5T &7 & fagr wmar 82
Options :

1. ¢ e

2. % Wd

3. % Tfd

4. % g

Question Number : 31 Question Id : 9277594250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the hottest planet in the solar system?
Options :

1. # Mars

2. % Venus

3. # Uranus



4. ¥ Neptune

Question Number : 31 Question Id : 9277594250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR S BT Yo T g B A1 82
Options :

1. % W1d

2. ¥ Qb

3. % 3130

4, % 0

Question Number : 32 Question Id : 9277594251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the name of the peninsular country:
Options :

1. ¥ India

2. % Philippines

3. % Austria

4. % Brazil

Question Number : 32 Question Id : 9277594251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URIGIUT <= & ATH 1 TG X
Options :

1. ¥ HRd

2. % flhciid

3. % 3fifecar

4. % SSitd



Question Number : 33 Question Id : 9277594252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the theme of the Economic Survey 2020-21?
Options :

1. # Rural development and agriculture Education
2. % Enable Markets, Promote 'Pro-Business'

3. % "Shifting Gears"

4. ¥ Saving Lives & Livelihoods

Question Number : 33 Question Id : 9277594252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tffer Tderur 2020-21 &1 fawa 1 82
Options :

1. % YT fahry Ud Y fRren

2. % FIOIR H&H HA1, Yoo &l ggrar ¢
3. % Rt TR

4.« S 3R SATSfaeT ST

Question Number : 34 Question Id : 9277594253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A very basic solution (high pH) will change the color of beets or beet juice from

Options :

1. #® violet to green
2. % purple to yellow
3. % red to purple

4. ® pink to black

Question Number : 34 Question Id : 9277594253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 9gd &1 &R faaa+ (3= pH) T gaheR 1 ghaR &b I BT T 9Gd |
Options :

1. % ST

2. % §If 9 dian

3. ¢ 1 ST

4. % T[S Y HIc

Question Number : 35 Question Id : 9277594254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Enzymes are required to:

Options :

1. # Repair blood cells in body

2. ¥ Digest the food in stomach

3. # Increasing oxygen level in body

4. ® Sharpen the eye sight

Question Number : 35 Question Id : 9277594254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ufhug &l fAg & D1 Il 6:
Options :

1. # YRR F I9d DIRAB137 BT SHoaR
2. ¢ Ue T M1 0l

3. % YRR H G BT TR TGl

4, % 3Gl BT AT ol HRAT

Question Number : 36 Question Id : 9277594255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a Vector-Borne Disease?
Options :

1. ¥ Ebola virus

2. # Dengue fever

3. ¥ Malaria

4. % Lymphatic filariasis

Question Number : 36 Question Id : 9277594255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed # § ®19-91 T daex 9IfFd (daeR a1H) I9T 81 82
Options :

1. ¢ SEd arRY

2. % STER

3. % HaRar

4. % TP BISANRT]

Question Number : 37 Question Id : 9277594256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not a dwarf planet?
Options :

1. # Pluto

2. ® Eris

3. % Makemake

4. ¥ Venus

Question Number : 37 Question Id : 9277594256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T T T8 T &2



Options :
% e
2. % UR¥
3. % HIbHTD
4. ¢ b

Question Number : 38 Question Id : 9277594257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many organs the United Nations Organization have?
Options :

1. ¥ Seven

2. # Three

3. % Six

4. % Eight

Question Number : 38 Question Id : 9277594257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g XY Y & foba U1 8

Options :

1. % 9gid

2. % dfiF

3. ¥ 8%

4. % 3o

Question Number : 39 Question Id : 9277594258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Currently (As on August 2021), who is the Governor of the Reserve Bank of India?
Options :



1. # Urjit Patel

2. % Shri Shaktikanta Das
3. % T. Rabi Sankar

4. ¥ Raghuram Rajan

Question Number : 39 Question Id : 9277594258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I H (3R 2021 dh), HRAT RoTd S & IeguTet o1 82
Options :

1. % 3Ra uca

2. ¢ 4t IfRipid T

3. % & W&l TR

4. % IYTHISH

Question Number : 40 Question Id : 9277594259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Currently (As on 2021), who is the Chairperson of the Union Public Service Commission?
Options :

1. ¥ Vinay Mittal

2. % Sujata Mehta

3. % Prof. (Dr.) Pradeep Kumar Joshi

4. % Arvind Saxena

Question Number : 40 Question Id : 9277594259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IIAF H (2021 TP), TY T JaT NI P T DI 82

Options :

1. ® foqg fiq



2. % oI Al

3. ¢ O, (S1) Ucid AR SR

4. % 3Rfdg g

Group Number :

Group Id :

Group Maximum Duration :
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Group Marks :
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Question Shuffling Allowed :

Question Number : 41 Question Id : 9277594260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Arithmetic Ability

3
92775968
0

0

No

No

0

20

No

Arithmetic Ability

92775984
1

Online
Mandatory
20

20

20

Yes

1
927759100
Yes



Correct Marks : 1 Wrong Marks : 0.25

What is the least number that should be multiplied to 1536 to make it a perfect cube?
Options :

1. #® 7

2.% 8

3.0

4. % 10

Question Number : 41 Question Id : 9277594260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 gIaH G 941 § Ford gt o9 §9M & foT 1536 1 T7om fosan S =
Options :

1. %7

2.% 8

3.9

4. % 10

Question Number : 42 Question Id : 9277594261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify:
(0.023%0.023%0.023+0.017x0.017x0.017)/(0.023%0.023-0.023%0.017+0.017%x0.017)
Options :

1. % 04

2.9 0.04

3. ® 0.044

4. % 0.004

Question Number : 42 Question Id : 9277594261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(0.023XO.§3'X0023+0.017X0.017X0.017)/(0.023><0.023-0.023X0.017+0.017><0.017)
Options :

1.* 04

2.9 0.04

3. % 0.044

4. % 0.004

Question Number : 43 Question Id : 9277594262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 7x/(1+1/(1-x/(1+x))) = 2 then what is the value of x?
Options :

1. ® 5/4

2.9 4/5

3.% 4

4. % 5

Question Number : 43 Question Id : 9277594262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 7x/(1+1/(1-x/(14x))) = 2 T x DT AT T 82
Options :

1. % 5/4

2.9 4/5

3.% 4

4. % 5

Question Number : 44 Question Id : 9277594263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A wall is 5.5 m high and 6.5 m broad. What is the number of maximum size squares that is required to cover the wall with square shaped papers?



Options :
1. % 134
2. % 133
3. % 144
4.9 143

Question Number : 44 Question Id : 9277594263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH AR 5.5 m St 3R 6.5 m Aot g | SHABTH 3MBR P T o1 TS T @ Sl SR DI aF MHR P BTG T b P AT STawgeh g2
Options :

1. #= 134

2.% 133

3. % 144

4.9 143

Question Number : 45 Question Id : 9277594264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the length largest scale that measures accurately, the three equilateral triangles with sides measuring 68cm, 102cm and 136¢cm.
Options :

1. % 2cm

2.% 34 cm

3. % 43 cm

4. % 44 cm

Question Number : 45 Question Id : 9277594264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
68cm, 102cm 3R 136cm AT B Y13l AT i GHETg AYSH @, Teid U I YA aTe Ja99 ds ATIHH &1 daTs 1 62
Options :

1. # 2cm




2. % 34 cm
3. % 43 cm
4. % 44 cm

Question Number : 46 Question Id : 9277594265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram, Shyam and Dheeraj are in a partnership. They had a profit of Rs 531000 for the year. Their capital is in the ratio 1/2:1/5:1/7. What is the
share of Shyam?

Options :

1. # Rs. 90000
2. % Rs. 125000
3. % Rs. 126000
4. % Rs. 315000

Question Number : 46 Question Id : 9277594265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I, T 3R kel U WrRieRt 7 81 35 a9 & fRIT 531000 FUY T ATH 3ATI IS GoN 1/2:1/5:1/7 P SUTT A € | TH BT R 1 82
Options :

1. % 90000 ®Uq

2. % 125000 ®4UQ

3. ¥ 126000 >UU

4. % 315000 >49Q

Question Number : 47 Question Id : 9277594266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 3:7. When 12 is added to both the numbers than ratio becomes 9:17. What are the numbers?
Options :

1. ¥ 56,24

2. % 42,65



3. % 24,65
4, % 24,56

Question Number : 47 Question Id : 9277594266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =T 3.7 & T H € 1 5E g Tveanat § 12 WS far Sirdn € o SuTd 9:17 81 Sl § | TReaTd o 82
Options :

1. % 56,24

2. % 42,65

3. % 24,65

4. ¥ 24,56

Question Number : 48 Question Id : 9277594267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 8L solution of alcohol and water, the percentage of alcohol is 13%. If 2L of water is added to the solution then what is the new percent of
alcohol concentration in the solution?

Options :

1. * 10.0%
2. % 11.0%
3. % 9.0%
4.9 10.4%

Question Number : 48 Question Id : 9277594267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eHIBA 3R U P L O H fchlgd BT UMAId 13% | afe od & 2L U1 ffda o feum S @ oied & 3ichigd o1 A1 T =747 Ufa=id
foam g

Options :

1. % 10.0%

2. % 11.0%




3. % 9.0%
4. % 10.4%

Question Number : 49 Question Id : 9277594268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man's salary is deducted with 8% on house rent. Then 15% of the rest is spent on house utilities and 20% of the rest is spend on miscellaneous
and children's education. After these, his savings is Rs. 988448. What is the man's original salary?

Options :

1. ¥ Rs. 1580000
2. % Rs. 1850000
3. # Rs. 158000
4. % Rs. 185000

Question Number : 49 Question Id : 9277594268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HAfad BT I TR P T4 TR 8% I HIT T 8 | TR AW BT 15% TR SUAITIaTSil IR 9 foham T § SfR =W &7 20% fafaey iR =t
& 1 IR 7 forerT T § | $91h §Te, S9! aad 988448 ¥UT ¢ | SATad H1 Hd da- o1 82

Options :

1. ¥ 1580000 TTT

2. % 1850000 TTT

3. % 158000 ¥UY

4. % 185000 3T

Question Number : 50 Question Id : 9277594269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of the first 47 natural numbers?
Options :

1.¥ 24

2. % 42



3. %2
4. % 4

Question Number : 50 Question Id : 9277594269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 47 Wi RSl &1 3iad T 82
Options :

1.¥ 24

2. % 42

3.% 2

4. % 4

Question Number : 51 Question Id : 9277594270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of the prime numbers between 15 to 49?
Options :

1. % 31.98

2.9 31.89

3. % 31

4. % 30.89

Question Number : 51 Question Id : 9277594270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 49 & o ST TBT3M BT 3 T 572
Options :

1. % 31.98

2.9 31.89

3. % 31

4. % 30.89



Question Number : 52 Question Id : 9277594271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper has a lot of products worth Rs. 20000. 1/4th of them are sold at a 14% profit. At what profit percentage should the rest be sold so
that the overall profit is 16.5%?

Options :

1. % 16.0%

2. % 15.0%

3. % 170%

4.9 17.33%

Question Number : 52 Question Id : 9277594271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HMER & U 20000 ¥UT b & Fgd A IAIG & | T8 I 1/4 B 14% ATH TR 91 ST 8 | Y B! fova Tfa=rd A1y R ST ST
AR 1 AT 16.5% BI?

Options :

1. % 16.0%

2. % 15.0%

3. % 170%

4.9 17.33%

Question Number : 53 Question Id : 9277594272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man allows 16% discount on the list price. After the discount he makes a 12% profit at Rs. 9408. What is the cost price?
Options :

1. % Rs. 4800

2. % Rs. 8400

3. % Rs. 8000

4. % Rs. 4000



Question Number : 53 Question Id : 9277594272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% fad et Hed W 16% B! B odl & | T & d1G 8 9408 FUT TR 12% T ATH ST Bl g | AT Jod HT 82
Options :

1. % 4800 U

2. % 8400 >UU

3. % 8000 ®UU

4. % 4000 >UU7

Question Number : 54 Question Id : 9277594273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the discount of 18% and two successive discounts of 12% and 6% on a Rs. 48900 bill?
Options :

1. # Rs. 352

2. ¥ Rs. 352.08

3. % Rs. 353

4. # Rs. 351

Question Number : 54 Question Id : 9277594273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48900 TUY & fId TR 18% P T 3R 12% 3R 6% b1 1 Hitb Fei P s BT R fba 82
Options :

1. # 352%0U¢

2. % 352,08 30U

3. % 353%0U

4. % 351 %4C¢



Question Number : 55 Question Id : 9277594274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interest rate is 14% p.a. that is being compounded half-yearly. The sum of money is Rs. 965000 and the duration is 3 years. What is the
compound interest?

Options :

1. ¥ Rs. 483240.79
2. % Rs. 483204.79
3. % Rs. 483402.79
4. % Rs. 483420.79

Question Number : 55 Question Id : 9277594274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS &R Ul a¥ 14% & o Srefamiies 0 & Tehgfe [ ST T § 1 UFRIRT 965000 ¥UT B 3R 3@ty 3 T8 § | Tshgiea ST 1 62
Options :

1. % 483240.79 >UUQ

2. % 483204.79 >UUQ

3. % 483402.79 >UU

4. % 483420.79 U

Question Number : 56 Question Id : 9277594275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A room is 17m long, 12m wide and 10m long. What would be the length of the pole that can be put in that room?
Options :

1. * 239m

2.% 23m

3. % 24m

4.4 23.09 m

Question Number : 56 Question Id : 9277594275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B 17m G, 12m ST 3R 10m T 81 3T FH&f H TG TN b aTal W™ Pt daTg b1 g2
Options :

1. % 239m

2. % 23m

3. % 24m

4.9 23.09m

Question Number : 57 Question Id : 9277594276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q can do carpeting in 6 days. Q and R can do the same carpeting in 8 days while R and P can do it in 10 days. How long will they take if
they all work together?

Options :

1. ¥ 240/47 days
2. % 240/48 days
3. % 240/49 days
4. % 241/47 days

Question Number : 57 Question Id : 9277594276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q HIAH [ BT HH 6 fei § HX Ibd 81 Q 3R R I HTehA fodm & S & 8 el & B Ibd & Safd R 3R p I HraiA
8™ & B B 10 i & B Gobd B 1 afe 3 G T 1Y 18 B 1 I b1 T0g e

Options :

1. ¢ 240/47 faT
2. % 240/48 T
3. % 240/49 faT1
4. % 241/47 a7

Question Number : 58 Question Id : 9277594277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The police spotted the thief at a distance of 200m. The speed at which thief ran was 9 km/h and police ran at 11 km/h. How far will the thief will
have to go before police catches the thief?

Options :

1. % 990 m
2. % 900 m
3. % 890 m
4. % 800 m

Question Number : 58 Question Id : 9277594277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3 dR 1 200m 1 g J ST TR TG 13 T T 8 9 km/h B 3R GFRTT 11 kn/h B 71T F T G IR ) Uahg I99 Ugd AR
& fha-l gr ST g

Options :

1. % 990 m

2.+ 900 m

3. % 890m

4. % 800 m

Question Number : 59 Question Id : 9277594278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table shows the students applied and qualified from different states. What is the median of students that qualified?



Year 2010 2011 2012
State Applied Qualified Applied Qualified Applied Qualified
A 3147 196 1554 208 2875 231
B 1018 153 4558 180 4109 256
= 3992 167 4410 183 3837 255
D 3730 190 3278 210 3762 238
E 2403 1 3261 imn 2550 260
Options :
1. % 190
2.¥ 196
3. % 208
4. % 183

Question Number : 59 Question Id : 9277594278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diferest fafte Trsat @ 3iTde B aTdt 3R I BT B! SR g | B dTUT ST BT HIehd T 82

EL] 2010 2011 2012
=g AT g TS JEATITE A g
A 3147 196 1554 208 2875 231
B 1618 153 2558 180 2109 256
c 1992 167 4410 183 1837 255
D 3730 190 1278 210 1762 238
E 2403 179 1261 171 2550 260
Options :
1. # 190
2. ¥ 196

3. % 208




4. % 183

Question Number : 60 Question Id : 9277594279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph shows the pass percentage for different schools. Which school has the worst performance?
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Options :
1. % P&Q
2. % Q&R
3.¥P
4, % Q

Question Number : 60 Question Id : 9277594279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % P3RQ
2. % Q3RR
3.4 P
4. % Q
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Question Number : 61 Question Id : 9277594280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This phenomena made its appearance / even during the short lived period of / the Soviet republic in Bavaria.
Options :

1. ¥ This phenomena made its appearance

2. % even during the short lived period of

3. # the Soviet republic in Bavaria.

4. * No Error

Question Number : 61 Question Id : 9277594280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This phenomena made its appearance / even during the short lived period of / the Soviet republic in Bavaria.
Options :



1. ¥ This phenomena made its appearance
2. # even during the short lived period of
3. # the Soviet republic in Bavaria.

4. % No Error

Question Number : 62 Question Id : 9277594281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But intellectual madness would have / resulted from a development that followed / the acceptance of it's own kind of art.
Options :

1. # But intellectual madness would have

2. % resulted from a development that followed

3. % the acceptance of it's own kind of art.

4. % No Error

Question Number : 62 Question Id : 9277594281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

But intellectual madness would have / resulted from a development that followed / the acceptance of it's own kind of art.
Options :

1. # But intellectual madness would have

2. # resulted from a development that followed

3. % the acceptance of it's own kind of art.

4. # No Error

Question Number : 63 Question Id : 9277594282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She settles into the cockpit, (surrounding with dozen of complicating switches and sophisticated gauges,) sitting atop a massive $84 million piece
of machinery.

Options :

1. # surrounding with dozens of complicating switch and sophisticating gauges

2. % surrounded around dozens of complicated switches and sophisticated gauges,
3. ¥ surrounded by dozens of complicated switches and sophisticated gauges,

4. # No correction required.

Question Number : 63 Question Id : 9277594282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She settles into the cockpit, (surrounding with dozen of complicating switches and sophisticated gauges,) sitting atop a massive $84 million piece
of machinery.

Options :

1. # surrounding with dozens of complicating switch and sophisticating gauges

2. % surrounded around dozens of complicated switches and sophisticated gauges,
3. ¥ surrounded by dozens of complicated switches and sophisticated gauges,

4. ® No correction required.

Question Number : 64 Question Id : 9277594283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even though (he do not realize it, he) was responsible for his own problems.
Options :



1. * he don't realize it, he
2. % he didn’t realize it, he
3. ® he don't realizes it, he

4. # No correction required.

Question Number : 64 Question Id : 9277594283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Even though (he do not realize it, he) was responsible for his own problems.
Options :

1. ®* he don't realize it, he

2. ¥ he didn’t realize it, he

3. ® he don't realizes it, he

4. # No correction required.

Question Number : 65 Question Id : 9277594284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Still another symptom has to be considered.
Options :

1. % overwhelming

2. % critical

3. # tuberous

4. % violent

Question Number : 65 Question Id : 9277594284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice.

Still another symptom has to be considered.
Options :

1. # overwhelming

2. % critical

3. # tuberous

4. * yiolent

Question Number : 66 Question Id : 9277594285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

In the , completing a marathon makes us happier than eating a chocolate pie.
Options :

1. #* fast running

2. # fastest run

3. ¥ long run

4. # long duration

Question Number : 66 Question Id : 9277594285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

In the , completing a marathon makes us happier than eating a chocolate pie.
Options :

1. % fast running

2. # fastest run

3. ¥ long run

4. # long duration



Question Number : 67 Question Id : 9277594286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Photosynthesis is a process

P. convert light energy into chemical energy that,
Q. can later be released to fuel the

R. used by plants and other organisms to

S. through cellular respiration,

organism's metabolic activities.
Options :

1. ¥ PQRS

2. % QSRP

3. % SRQP

4. ¥ RPSQ

Question Number : 67 Question Id : 9277594286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Photosynthesis is a process
P. convert light energy into chemical energy that,
Q. can later be released to fuel the

R. used by plants and other organisms to



S. through cellular respiration,

organism's metabolic activities.
Options :

1. ®* PQRS

2. * QSRP

3. ¥ SRQP

4. ¥ RPSQ

Question Number : 68 Question Id : 9277594287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Pangaea or Pangea is derived from Ancient Greek pan meaning "all, entire, whole" and Gaia "Mother Earth, land").

P. It was a supercontinent that existed during the late Palaecozoic and early Mesozoic eras.

Q. Pangaea is the most recent supercontinent to have existed and the first to be reconstructed by geologists.

R. It assembled from earlier continental units approximately 335 million years ago, and began to break apart about 175 million years ago.

S. In contrast to the present Earth and its distribution of continental mass, Pangaea was centred on the Equator and surrounded by the superocean
Panthalassa.

The forming of supercontinents and their breaking up appears to have been cyclical through Earth's history.
Options :

1. # RSPQ

2. % SPRQ

3. % PRSQ

4. % QPSR

Question Number : 68 Question Id : 9277594287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Pangaea or Pangea is derived from Ancient Greek pan meaning "all, entire, whole" and Gaia "Mother Earth, land").

P. It was a supercontinent that existed during the late Palacozoic and early Mesozoic eras.

Q. Pangaea is the most recent supercontinent to have existed and the first to be reconstructed by geologists.

R. It assembled from earlier continental units approximately 335 million years ago, and began to break apart about 175 million years ago.

S. In contrast to the present Earth and its distribution of continental mass, Pangaea was centred on the Equator and surrounded by the superocean
Panthalassa.

The forming of supercontinents and their breaking up appears to have been cyclical through Earth's history.
Options :

1. % RSPQ

2. % SPRQ

3. ¥ PRSQ

4. % QPSR

Question Number : 69 Question Id : 9277594288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ LAISCION

2. % LAISON

3. % LIASION

4. ¥ LIAISON

Question Number : 69 Question Id : 9277594288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # LAISCION

2. % LAISON

3. # LIASION

4. ¥ LIAISON

Question Number : 70 Question Id : 9277594289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

GRUDGE

Options :

1. ¥ COMMUNION
2. % CONCORD

3. % MALICE

4. ¥ RAPPORT

Question Number : 70 Question Id : 9277594289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

GRUDGE

Options :

1. ¥ COMMUNION
2. % CONCORD

3. ¥ MALICE

4. % RAPPORT

Question Number : 71 Question Id : 9277594290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

RAPACIOUSNESS
Options :

1. # BENEFICENCE

2. % MUNIFICENCE

3. ¥ PROFUSION

4. ¥ VORACIOUSNESS

Question Number : 71 Question Id : 9277594290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

RAPACIOUSNESS
Options :

1. % BENEFICENCE

2. % MUNIFICENCE

3. ¥ PROFUSION

4. ¥ VORACIOUSNESS

Question Number : 72 Question Id : 9277594291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

GRATIFYING
Options :

1. #* DELIGHTFUL
2. % PLEASANT
3. ¥ DREARY

4. % EVENTFUL



Question Number : 72 Question Id : 9277594291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

GRATIFYING
Options :

1. ¥ DELIGHTFUL
2. ¥ PLEASANT
3. ¥ DREARY

4. % EVENTFUL

Question Number : 73 Question Id : 9277594292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Axiom

Options :

1. # A position requiring little or no work but giving the holder status or financial benefit.
2. # Denoting a sin that is not regarded as depriving the soul of divine grace.

3. ¥ A statement or proposition on which an abstractly defined structure is based.

4. % The action or offence of speaking sacrilegiously about God or sacred things.

Question Number : 73 Question Id : 9277594292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Axiom
Options :

1. # A position requiring little or no work but giving the holder status or financial benefit.



2. # Denoting a sin that is not regarded as depriving the soul of divine grace.
3. ¥ A statement or proposition on which an abstractly defined structure is based.

4. ® The action or offence of speaking sacrilegiously about God or sacred things.

Question Number : 74 Question Id : 9277594293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Burn your bridges

Options :

1. # Overcome your emotions and move on in life.
2. % To destroy your enemies.

3. % To destroy confidential information.

4. ¥ To destroy a bridge or path behind oneself.

Question Number : 74 Question Id : 9277594293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Burn your bridges

Options :

1. ® Overcome your emotions and move on in life.
2. % To destroy your enemies.

3. # To destroy confidential information.

4. ¥ To destroy a bridge or path behind oneself.

Question Number : 75 Question Id : 9277594294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.



The rats are leaving the sinking ship.

Options :

1. # In an emergency you do things that you would not otherwise do.

2. % Don’t expect a good event to happen before it has actually happened.
3. #® You shouldn’t be too sure of something, even if the prospect is good.

4. ¥ Turning away from failing or fleeing from an unpleasant situation.

Question Number : 75 Question Id : 9277594294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

The rats are leaving the sinking ship.

Options :

1. #® In an emergency you do things that you would not otherwise do.

2. % Don’t expect a good event to happen before it has actually happened.
3. # You shouldn’t be too sure of something, even if the prospect is good.

4. ¥ Turning away from failing or fleeing from an unpleasant situation.

Sub-Section Number : 2
Sub-Section Id : 927759102
Question Shuffling Allowed : Yes

Question Id : 9277594295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-minded people and with few permanent ties. It involves
musical, artistic, literary, or spiritual pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use of the word in
the English language was imported from French in the mid 19th century and was used to describe the non-traditional lifestyles of artists, writers,
journalists, musicians, and actors in major European cities. Bohemians were associated with unorthodox or anti-establishment political or social
viewpoints, which often were expressed through free love, frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A
more economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to as haute bohéme (literally "high Bohemia").



The term bohemianism emerged in France in the early 19th century, when artists and creators began to concentrate in the lower-rent, lower class,
Romani neighbourhoods. Bohemian was a common term for the Romani people of France, who were mistakenly thought to have reached France
in the 15th century via Bohemia (the western part of modern Czech Republic). Bohemianism and its adjective bohemian in this specific context
are not connected to the native inhabitants of this region.

Sub questions

Question Number : 76 Question Id : 9277594296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what would mean the opposite of 'economically privileged' from the given options?
Options :

1. ¥ Destitute

2. % Affluent

3. * Superior

4. % Sceptical

Question Number : 77 Question Id : 9277594297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options define bohemianism aptly?
Options :

1. % Extravagant

2. % Journeying

3. * Qratification

4. % Leisure

Question Number : 78 Question Id : 9277594298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. The use of the word bohemians as wanderers was imported in the English language from French in the mid 19th century.

B. Haute bohéme means rich Bohemian people.



C. Bohemianism was started in the 15th century by the native inhabitants of Bohemia in France.
Options :

1. % Only A is correct.

2. % B and C are correct.

3. ¥ Cis incorrect.

4. ® Only B is correct.

Question Number : 79 Question Id : 9277594299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is incorrect?

A. Bohemians were unorthodox but had strongly supported political and social viewpoints.
B. Bohemian was a common term for the Romani people of France.

C. Some of the Bohemian people choose to live a life of poverty despite being wealthy.
Options :

1. ¥ A is correct.

2. % B is correct.

3. % (s correct.

4. % B & C are correct.

Question Number : 80 Question Id : 9277594300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, what is the meaning of van-dwelling'?
Options :

1. # People who are not stationed at one location.

2. # Nomadic lifestyle

3. ¥ Van converted to home, people live in the van and travel around.

4. % Rich people travelling in caravan.



Question Id : 9277594295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-minded people and with few permanent ties. It involves
musical, artistic, literary, or spiritual pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use of the word in
the English language was imported from French in the mid 19th century and was used to describe the non-traditional lifestyles of artists, writers,
journalists, musicians, and actors in major European cities. Bohemians were associated with unorthodox or anti-establishment political or social
viewpoints, which often were expressed through free love, frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A
more economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to as haute bohéme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators began to concentrate in the lower-rent, lower class,
Romani neighbourhoods. Bohemian was a common term for the Romani people of France, who were mistakenly thought to have reached France
in the 15th century via Bohemia (the western part of modern Czech Republic). Bohemianism and its adjective bohemian in this specific context
are not connected to the native inhabitants of this region.

Sub questions

Question Number : 76 Question Id : 9277594296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what would mean the opposite of 'economically privileged' from the given options?
Options :

1. ¥ Destitute

2. % Affluent

3. ®* Superior

4. % Sceptical

Question Number : 77 Question Id : 9277594297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following options define bohemianism aptly?
Options :

1. # Extravagant

2. % Journeying



3. % Qratification

4, % Leisure

Question Number : 78 Question Id : 9277594298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. The use of the word bohemians as wanderers was imported in the English language from French in the mid 19th century.
B. Haute bohéme means rich Bohemian people.

C. Bohemianism was started in the 15th century by the native inhabitants of Bohemia in France.
Options :

1. % Only A is correct.

2. % B and C are correct.

3. ¥ Cis incorrect.

4. ¥ Only B is correct.

Question Number : 79 Question Id : 9277594299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is incorrect?

A. Bohemians were unorthodox but had strongly supported political and social viewpoints.
B. Bohemian was a common term for the Romani people of France.

C. Some of the Bohemian people choose to live a life of poverty despite being wealthy.
Options :

1. ¥ A is correct.

2. # B is correct.

3. % Cis correct.

4. % B & C are correct.



Question Number : 80 Question Id : 9277594300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, what is the meaning of van-dwelling'?

Options :

1. # People who are not stationed at one location.

2. # Nomadic lifestyle

3. ¥ Van converted to home, people live in the van and travel around.

4. % Rich people travelling in caravan.
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Sub-Section Number : 1
Sub-Section Id : 927759103
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277594301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

froffad v § TR faeed § J 39 ey &1 9g9 o3 Sl f32 T4 Weg &1 Ye! dH Tec ¢ |
I

Options :
1. ¥ W0
2. % Y
3. % Al
4. % I

Question Number : 81 Question Id : 9277594301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafad vy & IR ool # @ 39 faehey &1 7= B3 S fod 71U e &1 e I e B |
IS

Options :
1. ¥ @R
2. % Y
3. % dlb
4. % G

Question Number : 82 Question Id : 9277594302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffad vy & TR e § 3 39 e &1 9a o3 Sl {32 7 2ed 1 9el dgHd Tsd § |



DI
Options :
1. # X[d
2. %
3. % Dlch
4.« Grad

Question Number : 82 Question Id : 9277594302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR el 7 T 39 fad ey &1 T &Y off a8 7T Wed 1 TEt daHd Teg B |
DI

Options :
1. % X[d
2. % A
3. % BICh
4.« Grgd

Question Number : 83 Question Id : 9277594303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafalRad s 7 IR f[dwedl O O 39 faded &1 999 &3 o fad ¢ §fY - fawsq 2reg &1 Ta! WY &1 fawea g1 |

3 +3fd =
Options :
1. % 3ol
2. % 3/Ed
3. % 3(d
4. % 3T




Question Number : 83 Question Id : 9277594303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad s 7 IR fdwedl O O 39 faded &1 999 &3 o fad U §fY - fawsq 2reg &1 Te! WY &1 fawea g1 |

3 +3fd =
Options :
1. % 3ol
2. % 3/Ed
3. % 3(d
4. % 3Ty

Question Number : 84 Question Id : 9277594304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofaa oy & TR fawed 7 O 34 fawen &1 7o &3 off 8 U Ui 2rsg o1 w6l IfY - fawde &1 fasweu 81|

3QHIC =
Options :
1. % Ja+ Ylcd
2. % 3q+4Ycd
3. % 3q +dlcHd

4. % Hd+ Ylcd

Question Number : 84 Question Id : 9277594304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy o AR fawedl O T 39 faded &1 o+ &< N & 7T fY 2eg &1 ! 4fY - fawsg o1 fabea 71 |

IgHTeH =

Options :
1. % 3+ Ylcq




2. % 3G +YcH
3. ¥ I + °Ted
4. % Fd+ e

Question Number : 85 Question Id : 9277594305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy & IR ol & 9 39 faded &1 99 & ol d1edixl o oI Ugad U Ued &l Aol [ddbed 8l |
T Ieehd T ST b -

Options :

1. % 3fDbYA

2. % Y

3. % 3y

4. ¥ IIGHT

Question Number : 85 Question Id : 9277594305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy &, aR fowedl T 9 39 fdded &1 9g+ 3 Sl d1eixl o oI Ugad U Usg &1 ol fddbed 71|
o1 Ieera fordm ST 9o -

Options :

1. % DY

2. % 3]

3. % e

4.« G

Question Number : 86 Question Id : 9277594306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v o TR fadwenl O 9 39 [awed &1 70 &1 S faU T8 Weg - &1 9g! o arel fawed 8 |




3O - 31foR
Options :

1. # gad, g1
2. % TAT Hlel
3. ¢ ¢l 3
4. % UL

Question Number : 86 Question Id : 9277594306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed g o TR fadwetl O 9 39 faded &1 7o 1 S faU 70 Wsg -7 &1 Het o aretl fdsved 9 |
3O - 3R

Options :

1. #® gad, g}
2. % I Bl
3. ¢ &adl 3T
4. % U7

Question Number : 87 Question Id : 9277594307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered Uy # IR faseul § ¥ 34 fded 1 = &< il Y& a1 &1 Ha fdched 81 |
Options :

1. % ¥ Tt AqIR s 3|

2. % qeHaTs aR o |

3. % I VI B o o e e g1 71 |

4.+ HR1 {qeg o3 A T@T i |

Question Number : 87 Question Id : 9277594307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafRad vy & ,9R fodwedl 3 9 39 fdded &1 99 & o1l J[G 919 &1 el [ddhed g |
Options :

1. % T Mt IAGaR gag Sma|

2. % e 9k of |

3. % I U P fopan for 9 fowa g1 g |

4. ¢ T faaT o A T A |

Question Number : 88 Question Id : 9277594308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafad vy & ,9R ol 7 @ 39 fasey &1 9a &3 off AT 1T e &1 Tt gamnff 481 B |
PYHTHR -

Options :
1. * HY
2. ¥ g5l

3. % HIYd
4. % P

Question Number : 88 Question Id : 9277594308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad uy & IR fowedl § T 39 faswey &1 w09 &9 St AT U 2reg &1 T8t gamndf 78t g |

PIHTDY -
Options :

1. % HY

2. ¥ el

3. % HYq
4. % BRI




Question Number : 89 Question Id : 9277594309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & IR fawedl & T 39 fadey &1 w09 &9 St AT U 9190 & &1d U &1 et faweu g |
g Tl 715 g N |

Options :

1. % HIHY YdhTd

2. % 3qUl qGHH BT
3. ¢ iy YddTd

4. % gdogHG Hidw BTd

Question Number : 89 Question Id : 9277594309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea uy & TR fowedl § I 39 fdwey &1 999 &3 o fAU 78 a9y & o1d e &1 e fdbed g |
HfgHT el 7 BN |

Options :

1. * H HddbTdd

2. % 3quf gfHE w1
3. ¢ TG YddbTd

4. % gdogrc Hidw BT

Question Number : 90 Question Id : 9277594310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad uy & IR fowedl & T 39 fadey &1 w09 &9 St AT U 9190 & We &1 Ug! faseu g |
I od TG U, SHIeTT 98 STWR 7T |

Options :




1. % IR qTH
2.« Ggad IR
3. % fofyg arey
4. % f3Y IrdH dId

Question Number : 90 Question Id : 9277594310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy § 9R fowddl 7 9 39 fawey &1 9g &3 o AT U areg & U &1 9g! fdweu 3 |
Y ofd Tl ¥, 3T I8 ST6IR 7|

Options :

1. % IR I

2. ¢ Ggad IR

3. % fOf%d gt

4. % fqyHE IS IR

Question Number : 91 Question Id : 9277594311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad v o TR fawenl # 9 39 fawey &1 7o &< S fou T8 argd & gt & Ne &1 Jel fawe g |

T T, TR T e Uig ot 311y |
Options :

1. % Jhard

2.« FyaTrd

3. % Hegrd

4. % sy

Question Number : 91 Question Id : 9277594311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafefad v o TR fawenl # ¥ 39 fawey &1 7o &L S fou T8 argy & gt & Ne 1 del fawe g |

T T, TR T e Udig ot 311y |
Options :

1. % Jhard

2.  Gyard

3. % Hegrd

4. % sy

Question Number : 92 Question Id : 9277594312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafered uy & =R el § 4 39 fabed o1 97 3 S iR g gad a1ed 1 9 fdeeu 7 |
Options :

1. % 3fOIfEST A BTY SISaR Hel-" a1aT, H g g |

2. % TR A gT1Y SR Pl a1ar, H gRaar g

3. % 3[UTfeel A BT1Y SNSHR el a1aT, H g g |

4.« 3(OIEST A BTY SISaR el a1aT, H g g |

Question Number : 92 Question Id : 9277594312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy & TR fawet § ¥ 39 fawey &1 7o - S favm g god a1 &1 98l fdwe | |
Options :

1. % 3UIfeS A GTY S HR dHel-" 91T, B g g |

2. % 3UTfeS A §TY SIS Pol-" §1aT, H gReaTg "

3. % 3T A BT SIS Pl a1a, H gRIaTg |"

4. ¥ 3OS = BT ISR Hel-" o1aT, H gRaar g |

Question Number : 93 Question Id : 9277594313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl & I 39 fdwed &1 999 &3 o TR g god oo &1 9g! fawea 7 |
Options :

1. % ' AT Ueed " T 315, It T, 3 s H UG SIdl §

2. ¢ THV] UeTd " T 3718, U TH. S 916 # Ug™I Sl g |

3. % ' THI] Uoald o 318, I .TY. 3§16 # UgT Il § |

4. % AV UeEd " JXAH 3MTs It T, 3§ H UGRT Al g |

Question Number : 93 Question Id : 9277594313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad ey & TR fawet § 9 39 fawey &1 7o & S favm g god a1 &1 98l fdwe 1 |
Options :

1. % ' ] Uead " T ofTs. I T, S 91 | UMl Il §

2. ¢ ' ATHRU Ueed " T TS, Tt T, $ 918 B g San g |

3. % ' HTHRUT Ueed Jad TS, I .U, S Jie H Uil offdl § |

4. % HI0] Uead " THID 3MTs It T, 5 dfs H UGRT Al g |

Question Number : 94 Question Id : 9277594314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed v o TR fadwenl O 9 39 faded &1 79 1 S faU 78 geTar &1 Jet i g7 |
B TR T AT Hle] g -

Options :

1. ¢ fedt B oy e
2. % S T gy SIal
3. % geRie o

4. % ST s Bl

Question Number : 94 Question Id : 9277594314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafied v o TR fadwenl O 9 39 [awed &1 70 &1 S faU T8 GeTar &1 Jat i g7 |
BT IR HIT AT Hlal ga -

Options :

1. ¢ fbdt &l HY o1
2. % 391 Y gy S
3. % AERI® Bl

4. % 3 e BBl

Question Number : 95 Question Id : 9277594315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 7 ,9R foswedl 7 9 39 faded &1 99 & o1l QT 7T dioifad &1 ¥e! 3 g |
Hg RIS BRI - HRT=

Options :

1. % S AYWT Y fordft & Srarqor 181 {5 Sira
2. % I U4 AT P WIS Tal Hadl

3. ¢ g 3{U- gFdl gl Bigdl

4. % 9gd D3 uRed &1 UreT a1y

Question Number : 95 Question Id : 9277594315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy &, 9R fowedl 7 9 39 fadwed &1 99 &3 1t 3T 7T deifad &1 9gt 3 g7 |
Hag RIEY 1 7 HRT=

Options :
1. % JHU IYNT Y fordfl o 3fa[ur gl fdu wird
2. % D3 U ATA Bl WIS 8] Hadl




3. ¥ g 3O g¥al Tal Biadl
4. % 9gd B3 URYH BT UIST ATH

Sub-Section Number : 2
Sub-Section Id : 927759104
Question Shuffling Allowed : Yes

Question Id : 9277594316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

e fau U TR P eagd e U SR U@ MY U BT qarad SR I |

3 BT BT 31T B HAT WIIea HEaATdl o] ITAD S J 8IL GHTAT 8, 31U Ao H1 Wd 31 Tl 8] 5 IR fe 7 Sfiad 3t
foralt off fRufa & o1 ovred Yo R, ot a8 AT el e drdl || WIads! a1 ANTRG T &1 7 0T §| WIaaie d8WH- &1 101 | Hed & [P
TH o UG fagM SRS fOearR Yad TR & a6R @ 3| aut HiaR I U aafad g1y & Te Bier 91 9o fofg 39 Ui 31| S5
YR A H TGFR Y F Heit G 93T 3R S, “BRT A o TArT?” SRS 071 58 Sia IHT YA ISTHR I fo¥) d6d R
UG 919 98 3¢ Holgal ¢ @l dt 3 S, “Hoigl -Tel ey H U HTH W9 T B ohdl, Sufore HY gt weraar = df 3 safed
AT 31| SId 3% T8 Ul IdlT b ITah1 il SiNd Bl URIG [dg & dl 98 3-1b Uid H TR US| 3T U1 ST S FH 1 aiie |

Sub questions

Question Number : 96 Question Id : 9277594317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G & IR WIacie BT T 37 g 2
Options :

1. % IR IR 3fgeifad g1

2. % GIRI DI U R Jdaifed G

3. % QIR o1 YAl ¥ 301 HH B!
4. ¢ 3T BT B 30 3T HAT

Question Number : 97 Question Id : 9277594318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eTd W & S6Y $43T% [AeENR fobd dRyu # @s 3 2



Options :

1. % g Uq fRAf&rd safokd oI axryer o

2. % Pl Dl aUYSTH

3. ¢ 3fdd YRV ¥ fag- d1ct Afdd o1 aywr §
4, % TW/G P a1l b =0 I

Question Number : 98 Question Id : 9277594319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS fIUNITR & Y0Iy 98 ifdd Sgd aford i g2
Options :

1. % iehl 3T 37U H1H W fovar o1

2. ¥ I SRS AR & it wHe foram ot

3. % IUP! AGE HRA aTd - U1 A F 7T e fea

4. % Fifer IqPHT B fht 3R A fora

Question Number : 99 Question Id : 9277594320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¥ P WA & [aad ea § 2
Options :

1. % JreAMRar

2. % WY

3. ¢ WRIgew!

4. % WY

Question Number : 100 Question Id : 9277594321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3rg=sa o forg Iferd 2he i |

Options :
1. % Jfqcie- U 9 0T



2. ¢ WIded Uh 9§ 00
3. % WRIIAEd U 9 701
4. % IS I AT

Question Id : 9277594316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

9 fou 7T TR @ eayd e Ue SR U@ Y U &1 Had SR I |

3 BT B 37T gl BT Wads- Heardl g| STad od F 81 HTAAT 8, 30 o BT Tt 6 Tl %| 4l TR e Sita- B
fopalt ol fRufy & a0 ord w9 o, o 9 WeTacisll Heeirell ¢ TIad] &1 ARl BT HgTH 10T 8 Wacis S B 01 8| $ed ¢ (&
Wﬁmmémmmq LY & dER b9 ?'J\alﬁﬂ-ﬂﬂv@rwwﬁrauﬁwmcmwwﬁmdwwaﬂqﬂs%
YRV A T ¢ GG IR ETIREE, GIOI ﬁ?dlcﬂ “TRT I o TAR?” SHRAS (91 $© did SHT MM SoIHR Id Q¥ T8 TR
UgddhR ofd a8 36 Holgsl o ol ol d aidt, “Hdg{lﬂﬁﬂ@@ﬁ&ﬂﬁﬂ@?@ﬂﬂﬁ SHITT 5 TR WeTae R ¢ ¢ Sl
TSI g3 oid 39 T8 udlwl%dﬂwgmlqum B RIS f[dgH 8 o 98 3% Ui | IR UST) ST U 1T 3T 63 &1 aife o

Sub questions

Question Number : 96 Question Id : 9277594317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
319G & TR Wrace BT 31 Y § 2
Options :

1. % IR IR fgeifad g1

2. # GIRI DI U W Sfqafad G-

3. % GIRI B YAl ¥ YT DHTH HAI
4. 3O BT DI U 3T HIAT

Question Number : 97 Question Id : 9277594318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YA WA & T1ER SRS (IR i agyw d wg 4 2
Options :

1. % g U9 fRAf&rd safokd oI axrer o



2. % Hoil bl IAYTTH
3. ¢ 3Ad YR Y fag@ arel SAferd b A=1yET H
4, % TG HHAA S BT H

Question Number : 98 Question Id : 9277594319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS fIRNITR & QU1 98 SAfad 9gd afosrd odl gofT 2
Options :

1. % bl I (U1 HTH WY foar T

2. ¢ I SHRAS TR &1 et ot feram ot

3. % IUD! AGG B aTel « U1 o+ o A1 e fean

4. % Fifds IqHT BT fordt 3R A T

Question Number : 99 Question Id : 9277594320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¥ DT Wil o1 fId 2eg § 2
Options :

1. % JreAMRar

2. % WY

3. ¢ WRIGqH

4. % g

Question Number : 100 Question Id : 9277594321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3=q & fory Iferd <iep diford |
Options :

1. % 3qde U 9 01

2. ¢ Wade U 98 00



3. % RIade U 9F 700
4, % JAciS DI HTIRIHl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 9277594322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Disciplinel

6
92775971

Disciplinel

92775987
1

Online
Mandatory
20

20

20

Yes

1
927759105
Yes



Which of the following property doesn't hold?
Options :

1. # [x]=x if x is an integer

2. % [x+tyP[x]+ly]

3. % [x]=[x] if X is an integer

4. ® [-x]=-[x]-1 if x is an integer

Question Number : 101 Question Id : 9277594322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 7 & & a1 Turgd yRor T8 Bt 72
Options :

1. # [X]:Xqﬁxw%

2. % [x+ty[x]+y]

3. ¢ [x]=[x] UfE x QUIT® &

4. % [x]=-[x]-1 TFS x TUTIP &

Question Number : 102 Question Id : 9277594323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is domain of definition of exponential function?
Options :

1. ¥ real numbers

2. # integers

3. # whole numbers

4. % rational number

Question Number : 102 Question Id : 9277594323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRYTAIh] o (TFUHRIT ThaR) Bt URHIST 6T UHTIE -1 82

Options :




1. ¢ grdldd S8BT
2. % UTiaI

3. % guf Sy

4. % gAY IBT

Question Number : 103 Question Id : 9277594324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what range does sec(x) become invertible?
Options :

1. % R

2. ¥ R-(-1,1)

3. ¥ R-{0}

4. % 7

Question Number : 103 Question Id : 9277594324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CRREE: sec(x)ﬂ?ﬂ'mfﬁalﬂ'[%?
Options :

1. % R

2. ¥ R-(-1,1)

3. ¥ R-{0}

4. % 7

Question Number : 104 Question Id : 9277594325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Asymptotes are the tangents to the curve at which point?
Options :

1. ¥ infinity



2. # one point
3. % two points

4. # three points

Question Number : 104 Question Id : 9277594325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i s & fpy foig TR oeRar 82
Options :

1. ¢ 3Fd

2. % e fdg

3. % gifdg

4. % difdg

Question Number : 105 Question Id : 9277594326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The curve given by xy=15 is symmetrical about what?
Options :

1. # x axis

2. % yaxis

3. ¥ about the line x=y

4. % about the origin

Question Number : 105 Question Id : 9277594326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

xy=15 gRT fear mar ag frad T & wafifa 82
Options :

1. ¥ x H&

2. % y Y



3. #szy$ﬂtﬁq
4. % To-fdg & gy

Question Number : 106 Question Id : 9277594327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the volume of curve between the ordinate 0 to 4 around the curve x=y?
Options :

1. % 21n

2. 21.33n

3. % 31n

4, % 3133

Question Number : 106 Question Id : 9277594327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP x=y B IRI SR B 0 Y 4 & oI5 ah BT AT T 82
Options :

1. % 21n

2.9 21.33n

3. % 31n

4, % 31.33

Question Number : 107 Question Id : 9277594328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the curved surface area of cone in general form?
Options :

1. ¥ nrl

2. % qr(r+l)

3. % qnrh

4. % qrhl



Question Number : 107 Question Id : 9277594328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A &9 § P T I g8 &A% (oo 62
Options :

1. % mrl

2. % qr(r+l)

3. % qwrh

4. % qrhl

Question Number : 108 Question Id : 9277594329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the inner product between the vectors vanishes then what will be the angle between them?
Options :

1.*0

2. % 35

3. % 45

4.9 90

Question Number : 108 Question Id : 9277594329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe afe=m o o BT SHiaRed TUHFH G 81 ST a1 S+ s BT HI0T R g
Options :

1.% 0

2. % 35

3. % 45

4. % 90




Question Number : 109 Question Id : 9277594330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the gradient of the scalar field if f(x,y)=x+y at (1,2)?
Options :

1. ¥ it

2. % i+2j

3. % -

4. % j+2i

Question Number : 109 Question Id : 9277594330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &F BT UaUTdl T DR TS (1,2) W f(x,y)=x+y?
Options :

1. ¥ itj

2. % i+2j

3. % 41

4. % j+2i

Question Number : 110 Question Id : 9277594331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A =3itj+k ; B = 5it+j-k ; C = i+j-k then find the volume of parallelopiped if A,B,C are sides of of parallelopipe respectively?
Options :

1.* 0

2.9 8

3. % 16

4, % 32

Question Number : 110 Question Id : 9277594331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i A = 3i+j+k ; B = Si+j-k ; C = i+j-k O THRECHAD BT AT J1d B ARG A,B,C HHI: AR Pt Y &2
Options :

1. % 0

2.9 8

3. % 16

4. % 32

Question Number : 111 Question Id : 9277594332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the middle term of A.P. if it is given that sum of three numbers in A.P. is 15?
Options :

1.¥5

2.% 10

3. % 15

4. % 20

Question Number : 111 Question Id : 9277594332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A.P. BT A UG J1d &< Afe I8 e man § i A p. & o= wemsii &1anT 15 82
Options :

.95

2. %10

3. % 15

4. % 20

Question Number : 112 Question Id : 9277594333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A polynomial with real coefficients of n degree has roots ?




Options :

1. % n real roots

2. % n imaginary roots

3. ¥ n (may be real or imaginary)

4. % n-1 roots

Question Number : 112 Question Id : 9277594333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n f& & arafde Tuiies ardl 9gUe & T gId 82
Options :

1. % n dRdfdP g

2. % n HID gd

3. ¢ n (ARAfAP T HTUD g IHdl §)

4. % n-1 Hd

Question Number : 113 Question Id : 9277594334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If discriminant D>0 then what can you say about nature of roots?
Options :

1. # equal roots

2. % imaginary roots

3. % distinct real roots

4. % no real roots

Question Number : 113 Question Id : 9277594334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fafdadedR D>0 § O 319 gt &1 Upfa & IR H o1 g Thd 62

Options :



Question Number : 114 Question Id : 9277594335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find total number of asymmetric relations on a set A ={e,f,g} ?
Options :

1. ¥ 27

2. % 64

3. % 128

4, % 34

Question Number : 114 Question Id : 9277594335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A ={e,f,g} TR SRHHT el BT FaT T=AT AT B2
Options :

1. ¥ 27

2. % 64

3. % 128

4, % 34

Question Number : 115 Question Id : 9277594336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2587322568103 is a number which is divisible by which number?
Options :

1.¥7



2.%9
3.% 11
4, %2

Question Number : 115 Question Id : 9277594336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2587322568103 T BT § Sl b TBAT I fAHTH 52
Options :

1.¥7

2.%9

3. % 11

4. % 2

Question Number : 116 Question Id : 9277594337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Euler function tends to infinity if which condition follows?
Options :

1. * n tends to zero

2. ¥ n tends to infinity

3. % ntends to a positive limit

4. # n tends to a negative limit

Question Number : 116 Question Id : 9277594337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR e 3Fd B 3R U BiaT § afe S It fRUf &7 SR grar g2
Options :

1. % YIS

2. ¥ n S ISR



3. % o OIS ST B o §
4. % 1 FUTHD JIHT 81 STl &

Question Number : 117 Question Id : 9277594338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many subsets of set A occurs if A ={1,2,3,4}?
Options :

1. %2

2.% 4

3.% 8

4. 16

Question Number : 117 Question Id : 9277594338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A & T ST g Al A ={1,2,3,4}?
Options :

1. % 2

2.% 4

3.% 8

4. ¥ 16

Question Number : 118 Question Id : 9277594339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For any matrix to be in row reduced form which of the following conditions is not satisfied?
Options :

1. # Any row if has zero is at the bottom

2. # any leading entry is one

3. % Each leading one is to the right of one preceding row

4. ¥ zero row is at the top of the matrix



Question Number : 118 Question Id : 9277594339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faredt oft afegg & A T U B 81 & forg Fufafea 7 3 o < fRufa off =t ot ot 82
Options :

1. % DS WA IR IR

2. % DIs ot sl vfafd U &

3. % YA SYURt T gdad A & a1 SR §

4.« I Mg & AR E

Question Number : 119 Question Id : 9277594340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the rank of every non singular matrix of order n?
Options :

1.¥n

2. % n+l

3. % 2n

4, ® 2n+l

Question Number : 119 Question Id : 9277594340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% n & TAD TR-UHd G BT HH T GRI?
Options :

1.¥n

2. % n+l

3. % 2n

4. % 2n+1




Question Number : 120 Question Id : 9277594341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rank of a matrix in echleon form is equal to:
Options :

1. ¥ Number of non zero rows of the matrix

2. % number of zero rows of the matrix

3. # order of matrix

4. % number of variables

Question Number : 120 Question Id : 9277594341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUHE (TAH) Y H T AT H1 HH % & RIER 8
Options :

1. ¢ 3T DI IR A B G2

2. % 3{THg DI LI I G&AT

3. % 3MHg DI PilC

4. % TR B G
Discipline2
Group Number : 7
Group Id : 92775972
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline2

Section Id : 92775988
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759106
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277594342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the limit point of the sequence <f>= 1?
Options :

1.* 0

2.9 1

3.% 2

4. # infinity

Question Number : 121 Question Id : 9277594342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y <f>= 1 BT YIHIH 7T 82
Options :

1.#*0

2.¥ 1

3.% 2



4, % 3Hd

Question Number : 122 Question Id : 9277594343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest limit point of a bounded sequence is called?
Options :

1. ¥ limit superior of f

2. % limit inferior of f

3. % maximum point of f

4. ¥ minimum point of f

Question Number : 122 Question Id : 9277594343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U URSS 3IehH o T 7 HHich I el Sfiell 82
Options :

1. ¥ £ IR T

2. % £ QR AT

3. % I gD fdg

4. % b1 gAY foig

Question Number : 123 Question Id : 9277594344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Any non-empty set of R which is bounded above has a ?

Options :
1. ¥ lLub
2. % glb
3. * both exists finitely

4. % one exist infinitely



Question Number : 123 Question Id : 9277594344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R BT P18 o TR-Rad I=a ot SR J uRag 7, ITH 2
Options :

1. ¥ lLub

2. % glb

3, % SR uRf 0§ Hye §

4. % TP 3F: HIGG o

Question Number : 124 Question Id : 9277594345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If cardinality of a set A is 6 and that of set B is 7 then find the Cardinality of AAB ?
Options :

1. %7

2. %5

3. % 35

4. % can not be determined

Question Number : 124 Question Id : 9277594345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TYg A BT IS 6 § 3R TYAd B HT UMD 7 § <l AAB BT UMD J1d B2
Options :

1. % 7

2.% 5

3. % 35

4. Tyfied et fovar o G 8




Question Number : 125 Question Id : 9277594346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every bounded sequence with a unique limit point is ?

Options :

1. ¥ convergent
2. % divergent
3. % oscillatory

4, % doesn't exist

Question Number : 125 Question Id : 9277594346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sffgdta i g aren yde uRes s 87

Options :

1.« YRy
2. % IOIRY
3. % Qldd
4. % AN[E TRl §

Question Number : 126 Question Id : 9277594347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a function f'is from R to R and a be a point which is given convergent to us,then what can we say about the sequence which is generated by its
image i.e. f(a)?

Options :

1. ¥ it is bounded
2. # itis convergent
3. % it is divergent

4. # it occurs finitely

Question Number : 126 Question Id : 9277594347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

¢ U e £, R U R TP § 3R a Th U1 oG & S 89 U} fean Tan &, o 89 I 3hH & IR § &1 &g Tabd! @ ol 39®! Sid !
f(a) ¥ ITT BIAT 82
Options :

1. ¢ U8 IR §

2. % gg AR §

3. % Ug UIRI @

4. % U ORI ESUI EraT e

Question Number : 127 Question Id : 9277594348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pick the wrong statement?

Options :

1. # Any cauchy sequence is bounded.

2. # Any convergent sequence is cauchy

3. # Any real Cauchy sequence is convergent

4. ¥ In real every bounded monotonic sequence is divergent

Question Number : 127 Question Id : 9277594348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTed BYT BT I B2
Options :

1. % 13 ot DI 3rgepy uRke 3|

2. % B Ht IR 3 P B

3. % B ) IRAaP BN rgehH MR ST

4. ¥ AR H gR URSS THIAY SIehH SUTRI Bl 3

Question Number : 128 Question Id : 9277594349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The sum of the series n(Sin(n)) is

Options :

1. # convergent

2. ¥ divergent

3. % oscillates finitely

4. # oscillates infinitely

Question Number : 128 Question Id : 9277594349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRGTT n(Sin(n)) BT AT gl
Options :

1. % AR

2.« 3OIRY

3. % ORI U a7 FdT 8
4. % 3 SIA BT §

Question Number : 129 Question Id : 9277594350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let f be a sequence of bounded function and series given by f is uniformly continous to some function say g then

Options :

1. ¥ g is bounded
2. % gisunbounded
3. % gis infinite

4. % g occurs virtually to follow 1

Question Number : 129 Question Id : 9277594350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A o % £ IREG B BT 3HH § 3R £ERT &l s 481 90 70 U et e & e FReR g, a1 R g §
Options :

1. ¥ o URIG 8

2. % g&qﬁa&r%

3. % gma%

4. % o I 1 B SRV A & W grar g

Question Number : 130 Question Id : 9277594351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What condition is satistied if sequence of functions f'is said to be uniformly bounded?
Options :

1. ¥ |f(x)|<=M for some constant M and for all values of x

2. # |f(x)|=M for some constant M

3. # f(x) converge to a finite point

4. % f(x) converge to an infinite point

Question Number : 130 Question Id : 9277594351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS e £ & IHH DI THH T Y IR HeT o al S 9t U Iy giell 82
Options :

1. ¥ TS FRRIH M & g 3R x & Guft Al & o jf(x)| <=M

2. % $ fRRRIH M & iU |f(x)=M

3. % fx) IR foig W SMRRU eRaT 8

4. % f(x) 3d foig TR SR HRAT §

Question Number : 131 Question Id : 9277594352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The solution of the curve given y=f(x), where y is the function of x ,also x and y are real numbers and is termed as what?



Options :

1. ¥ solution curve

2. % polynomial curve
3. % bitsman curve

4. % functional curve

Question Number : 131 Question Id : 9277594352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T TP y=f(x) BT 5 (WIGRM), TT51 y, x BT BT &, x 3R y Ul IRAfaH TBA & 3R 3I T gl offcl 57
Options :

1. ¥ B (HIcgRM) b

2. # dgUc déb

3. % fqeiH o

4. % HATHAD IP

Question Number : 132 Question Id : 9277594353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many singular solutions occur for nth order ordinary linear diffrential equation?
Options :

1. % one

2. % two

3. % three

4. ¥ no singular solutions

Question Number : 132 Question Id : 9277594353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
nd B B JIYRUT G P Tl 3 o fram Tt ga (JTed@ ) B1d 82

Options :




1. % Th
2. % Q
3. % dH
4. ¥ BIs Uhd g (A1) ol

Question Number : 133 Question Id : 9277594354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the per capita rate of increase (r) takes the same positive value regardless of the population size, then we get which growth?
Options :

1. # logistics growth

2. % exponential growth

3. * both logistic and exponential

4. % transversal growth

Question Number : 133 Question Id : 9277594354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Tifd Safad i &R (r) ST & SMBR WR & U o1 Wi g-TeTd T1F il §, o 88 @i T i U gieit &2
Options :

1. % g (@) IS

2. ¢ TRYMIPI gl

[N

3. % M e (@IfRe®) 3R IRAIB Y
4. % Y g

Question Number : 134 Question Id : 9277594355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The curve obtained in exponential growth is of which type?
Options :

1. ¥ J shaped curve



2. % S shaped curve
3. % T shaped curve
4. ¥ W shaped curve

Question Number : 134 Question Id : 9277594355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM gig H U aeb [ YR &1 gldl 82
Options :

1. ¥ J H[hR hI dech

2. % S HIPR Dbl deh

3. % T 3[HOR Pl dd

4, % W 3[R P dd

Question Number : 135 Question Id : 9277594356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Change in number of individuals in population over time is called?
Options :

1. ¥ Population growth rate

2. % mortality rate

3. ¥ immigration rate

4. % remainder rate

Question Number : 135 Question Id : 9277594356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y o 1Y SEe] H sfokdl ot e § uRac ol o1 $gl Sl 82
Options :

1. ¢ SFEE 3G &)

2. % g}




3. % U a3
4, % YYHT &

Question Number : 136 Question Id : 9277594357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The general solution of the equation y"(x)=0 with the initial value problem s.t. at x=0 ; y=0 and y'=0 is?
Options :

1. # y(x)=x

2. ¥ y(x)=x%2

3. % y(x)=x/2

4. % y(x)=1

Question Number : 136 Question Id : 9277594357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x=0 ; y=0 and y'=0 TR YR U THW s.t.% TY THHRT y"(x)=0 BT MG 8 (AG) B ?
Options :

1. % y(x)=x

2. ¥ y(x)=x%/2

3. % y(x)=x/2

4. % y(x)=1

Question Number : 137 Question Id : 9277594358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used in mathematical modelling in Boolean algebra?
Options :

1. ¥ constructive solid geometry

2. # lines figure

3. % complex analysis

4. # mines geometry



Question Number : 137 Question Id : 9277594358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o ¥ fordet IanT gefta sterTiord o 1Tt isferT & fasar ST 62
Options :

1. ¢ TS S STHfc

2. % @1 1P

3. % iy fogewor

4. % G THfd

Question Number : 138 Question Id : 9277594359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which model accounts for time dependent change of a model?
Options :

1. # static model

2. % dynamic model

3. # bi-model

4. # generalized model

Question Number : 138 Question Id : 9277594359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T A8, T ATST & HIansd gRad- & fou SR 82
Options :

1. # Xfew Alsd

2. ¢ SEANS Hisd

3. % §ig-Arsd

4, % SRASTS Hlgd




Question Number : 139 Question Id : 9277594360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which model is the one in which every set of variable states is uniquely determined by parameters in the model and by sets of previous states of
these variables?

Options :

1. ¥ deterministic model
2. % probability model
3. # discrete model

4. % continuous model

Question Number : 139 Question Id : 9277594360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 HIF AT HISd ¢ forad TR Saw13f &1 Uds T=d Arsd H UTad gRT 3R 39 TR &1 USdl sa1ef & 9=y gRI ARy 0 3
e foram smar g2

Options :

1. ¢ Fraards el (FeedfHRes Areq)
2. % Tyredr el (urefaad disq)

3. % 39dd (fswpie) Alsd

4. % fRR fagsf

Question Number : 140 Question Id : 9277594361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit of the function f(x,y)= x+y-6 at x=1;y=2?
Options :

1. %3

2.9 3

3.% 4

4, % 4



Question Number : 140 Question Id : 9277594361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
x=1;y=2 R BT f(x,y)= x+y-6 DI AT JTd B2

Options :
1. %3
2.9 3
3.% 4
4. % 4
Discipline3
Group Number : 8
Group Id : 92775973
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 92775989
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 927759107
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277594362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x,y)=0 then find the directional derivative at c=(0,0) along the direction u=(a,b)?
Options :

1.¥0

2. % 1

3.% 2

4. % 3

Question Number : 141 Question Id : 9277594362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie f(x,y)=0 Al &R u=(a,b) & Y, c=(0,0) R fp-3aHae (S fRM SRafea) Jd H?
Options :

1.¥0

2. % 1]

3.%2

4. %3

Question Number : 142 Question Id : 9277594363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ify is expressed in terms of a variable x as y = f(x), then y is called what?
Options :

1. #* implicit function

2. ¥ explicit function

3. * convergent function



4. # divergent function

Question Number : 142 Question Id : 9277594363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey PI TR x P e H y = (x) P U H 3 [Ha1 F1a1 ], A y B T gl oIl 22
Options :

1. % 3RGY JHIHI

2. ¢ WY (3fRwTEe) B

3. % SRR B

4. % 3R B

Question Number : 143 Question Id : 9277594364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence given by interval [0,1] is

Options :

1. ¥ Bounded

2. # unbounded
3. # connvergent

4. ¥ divergent

Question Number : 143 Question Id : 9277594364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIART [0,1] GRT f&am AT 31geh g
Options :

1. ¢ URdg

2. % 3MUNTG

3. % AR

4. % UK




Question Number : 144 Question Id : 9277594365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suppose that a is in the domain of the function f such that, for all x in the domain of f:

f(x) <f(a)
Options :
1. ¢ fis said to have maximum value at x=a
2. ® fis said to have minimum value at x=a

3. # fhas both maximum and minimum values at x= a
4. % fisunbounded

Question Number : 144 Question Id : 9277594365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o fF o, A £ UHGET H 39 UBR g b £ yu@aes J I+t x & forg,

f(x) < f(a)

Options :

1. ¢ £ P x=a W HIHIH A 8H1 BT T 8

2. % P x=a TR FAqH T g1 HET T §

3. % £ x= a W BT 3R gATH g1 A &
4. % £3ORTG §

Question Number : 145 Question Id : 9277594366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which function defined on R by f(x)=x for every x in R, is continuous in R?
Options :

1. # constant function

2. % Riemann function

3. ¥ identity function



4. % dirichlet function

Question Number : 145 Question Id : 9277594366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 7 U x B AT f(x)=x GRT R TR I T Bl URHINT fHar mar g, St R 7 fFRaR 82
Options :

1. % fRRi® e

2. % JHH B

3. ¥ dHD -

4. % SR o

Question Number : 146 Question Id : 9277594367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let f and g be two uniformly continuous functions on interval I and also each function is bounded on I, then what can you say about product f.g?
Options :

1. % f.gis bounded

2. % f.gis integrable

3. ¥ f.g is uniformly continous on R

4. ® f.gis continous

Question Number : 146 Question Id : 9277594367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF T b £ 3R g 3R 1 R & THF FU T Jad B g 3R TAP Ba 1 R UREg 8, dF 310 IdTG f.g & IR H 1 68 Ihd 82
Options :

1. ® f.gqﬁ_d@_d%

2. % fo GHIGANT &

3. ¢ fg, R R THTUG: FRR
4, % fgﬁR_dT%




Question Number : 147 Question Id : 9277594368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which condition is not required in checking for Taylor's theorem?
Options :

1. ® It's (n-1)th derivative is continuous on [a,b]

2. ® It's (n-1)th derivative is derivable on (a,b)

3. # there exists a real number between a and b

4. ¥ fis necessarily bounded

Question Number : 147 Question Id : 9277594368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR UG &1 Si1d o ol o =1 Bt Sa=ashdl o1 67
Options :

1. % 3P (n-1)d ATHAS [2,b] W FRR B

2. % DT (n-1)d MTHA (a,b) TR GIT &

3. % 2 3R b P I TP IRATAS AT HINE §

4. ¢ A U A IR §

Question Number : 148 Question Id : 9277594369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the application of Taylor's series?
Options :

1. # Itis used to find value of whole function

2. # It reduces mathematical proofs

3. # It is used in optimization techniques

4. ¥ 1t fails to solve power flow analysis

Question Number : 148 Question Id : 9277594369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®1F TaR R &1 SUar Tal 82

Options :

1. % TP IUIN UI et BT J1F J1d B o (ol foaT ST g
2. % g TOrTY UHTON Y HH PRl 2

3. % 3BT IUTNT STAHIBRUT (IMTHIRA) dh-teb] | fodT STl 8
4. ¥ Tg °Td UdTe Iz &) 86 oA | It Ted1 §

Question Number : 149 Question Id : 9277594370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is interval of Taylor's series expansion of tan(x)?
Options :

1. % (0,90)

2. ¥ (-90,90)

3. % (-m,m)

4. % infinite region

Question Number : 149 Question Id : 9277594370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
tan(x) P CTR YR [IR BT SR &1 82
Options :

1. % (0,90)

2. ¥ (-90,90)

3. ® (-m,m)

4. % 3 &

Question Number : 150 Question Id : 9277594371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

When will be matrix of derivative of f given by f(x,y)=(x-y,xy) will be singular?
Options :

1. ® if x=y

2. % if x=-y

3. # if x=0

4. % ify=0

Question Number : 150 Question Id : 9277594371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x,y)=(x-y,xy) &RT fGU 7Y £ & GTdl DT TG Hd Tebel GHIT?
Options :

1. = q-%x:y
2. ¥ Glg x=-y
3. % gid x=0
4. % gidy=0

Question Number : 151 Question Id : 9277594372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the simultaneous limit of function ySin(1/x)?
Options :

1.¥0

2. % 1

3.% 2

4. % 3

Question Number : 151 Question Id : 9277594372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ba ySin(1/x) Bt JTId HHT JTd B2




Options :
1.¥0
2. % 1
3.% 2
4, %3

Question Number : 152 Question Id : 9277594373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While finding maximum value of a function what will we get in the case if it's second derivative becomes zero?
Options :

1. # we get maxima at that point

2. # we get minima at that point

3. ¥ we get possible inflection point

4. # we get both maxima and minima

Question Number : 152 Question Id : 9277594373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordt e o1 SR aH A T1d BRa JHY afe ITHT fgdiia sraeast X 81 ST ¢ dl 88 ot e g1
Options :

1. % g4 39 foig W If=m At avd

2. % g 39 fag R Ay fraar 8

3. ¢ B Ty A gfkad forg fBear g

4. % gH I ok Al <HI firerd &

Question Number : 153 Question Id : 9277594374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find curl (1) if r=2xyi+j+k.
Options :



1. ¥ -2xk
2. % 2yk
3. % 27k
4. %0

Question Number : 153 Question Id : 9277594374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& (r) 1 B TG r=2xyi++k|
Options :

1. ¥ -2xk

2. % 2yk

3. % 27k

4. % 0

Question Number : 154 Question Id : 9277594375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the double integral of f(x,y,z) = (y+z)dx+(z+x)dy+(x+y)dz .
Options :

1. *= 1

2. % -1

3.0

4. % 2

Question Number : 154 Question Id : 9277594375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x,y,z) = (y+z)dx+(z+x)dy+(x+y)dz DI =T TG 1 B
Options :

1. %1

2. % -1



3.¥0
4. % 2

Question Number : 155 Question Id : 9277594376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How do we find volume of a solid surface?
Options :

1. # By double integrating it

2. ¥ By triple integrating it over the surface
3. # By finding it's line integral

4. # By integrating over the surface

Question Number : 155 Question Id : 9277594376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 31 Tdg HI 3Ma Y J1d Hd 82
Options :

1. % 3 fg THIH T Pb

2. ¢ Fdg W Y Al T GHIH A B
3. % ZYPH] AT GHIH A JTd HRP

4. % Idg W JHIH AT PR

Question Number : 156 Question Id : 9277594377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem is valid in calculating integral for a multiple connected domain R?
Options :

1. ¥ Green's theorem

2. ® Gauss divergence theorem

3. % Stokes theorem



4. # Tterated integrals

Question Number : 156 Question Id : 9277594377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF I Y0 THIS I U UHTGET R & RIT qHTHd &1 701 § 910 82
Options :

1. ¢ WA &1 IRy

2. % TT3Y U JHY

3. % LI yHy

4. % TRIGd JHIB A

Question Number : 157 Question Id : 9277594378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The functions which are present on one side of Green's theorem are of which kind?
Options :

1. % Continuous partial derivative

2. ® complete derivatives

3. % discrete derivatives

4. ® only partial derivatives

Question Number : 157 Question Id : 9277594378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W T8 & U oW AlNIG B (¥ ThR & 62
Options :

1. ¢ TR 3l s{adhard

2. % Ul 3gaarel

3. % 3(qad (fewpie) sradmds

4. % Had 3RS adbarel




Question Number : 158 Question Id : 9277594379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The oscillation of a bounded function f on an interval [a,b]is the of the set {|f(x)-f(y)|}of the numbers.

Options :

1. # infimum
2. % supremum
3. ¥ maximum

4, % minimum

Question Number : 158 Question Id : 9277594379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ueh 3RT [a,b] TR YRSl Gd Ba £ T qler SRl o T {|f(x)-f(y)|} BT gl
Options :

1. % [gdH @wiam)
2. ¥ I (GHHH)
3. % 3ff¥dhad

4. % gAdH

Question Number : 159 Question Id : 9277594380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The necessary and sufficient condition for a function f to be Riemann integrable is that for every partition P for every €>0; which of the following
condition must occur?

Options :

1. ¥ [U(f,P)-L(f,P)|<e
2. % |U(f,P)-L(f,P)|>¢
3. #® |U(f,P)-L(f,P)|=¢

4. # Upper and lower sum vanishes



Question Number : 159 Question Id : 9277594380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U B £ & A GHIGH 814 & o 3awaes 3R Taid e I8 § fob Ude fAHTeH p & ot Ul o>0; Rufeiad 7 9 oF o fufa
B e w?

Options :

1. ¢ |U(£,P)-L(£,P)|<e

2. % [U(f,P)-L(,P)[>¢

3. % |U(f,P)-L(f,P)|=¢

4. % JHU R e g e Y ST 8

Question Number : 160 Question Id : 9277594381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick the correct statement?

Options :

1. ¥ Every continous function is Riemann integrable

2. # Every monotonic increasing function f is not Riemann integrable
3. # Every continous function is not Riemann integrable

4. % If function is increasing in interval it is not increasing in each of its subinterval

Question Number : 160 Question Id : 9277594381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el HYH BT AT P2

Options :

1. ¢ T RO B 9 JHId e §

2. % JAS THIEY F&dl Bad £ 9 JHH T 8l &

3. % T® RAR Hard A JHISH T -6 §

4. % I R H B §¢ 8T 8 dl T8 3T TAH IU-3HR1a | ol §¢ 381 8
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Question Number : 161 Question Id : 9277594382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every absolutely convergent improper integral is
Options :

1. ¥ convergent

2. # divergent



3. % oscillatory
4. # infinite

Question Number : 161 Question Id : 9277594382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS quic: SHTRRUT SR T T g
Options :

1. ¢ AR

2. % 3R]

3. % QAP

4. % 3Hd

Question Number : 162 Question Id : 9277594383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If fis the derivative of some function on [a,b],then there exists a number ¢ in (a,b) such that Integral of f with respect to x=

Options :

1. # f(c)

2. ¥ f(c).(b-a)

3. % f(c).(b+a)

4. # (b+a-c)f(c)

Question Number : 162 Question Id : 9277594383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S £, [a,b] TR B Ha BT SAHAS o, Al (a,b) HTH TGN c ARG ANG 8 B x=  FIASY T £ BT GHIGH A g |
Options :

1. # f(c)

2. ¥ f(c).(b-a)

3. # f(c).(b+a)




4. % (bt+a-c)f(c)

Question Number : 163 Question Id : 9277594384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit point of the sequence <1,2,1/2,3,1/3.....>
Options :

1.¥0

2. % 1

3.% 2

4. % 3

Question Number : 163 Question Id : 9277594384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3P H <1,2,1/2,3,1/3.....> D1 i J1d D
Options :

1.¥0

2. %1

3.% 2

4. %3

Question Number : 164 Question Id : 9277594385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every uniformly continuous function on an interval is on that interval.
Options :

1. # convergent
2. % divergent
3. % continuous

4. # oscillatory



Question Number : 164 Question Id : 9277594385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRTA R TAPH THEUd: Jad Ba- 39 Sidid IR gl
Options :

1. % 3Rt
2. % JOIRY
3.« gad
4. % QD

Question Number : 165 Question Id : 9277594386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If =<1/n> ,then what can you say about monotonic nature of f?
Options :

1. ¥ monotonic

2. % monotonically increasing

3. ¥ monotonically decreasing

4. # both increasing and decreasing

Question Number : 165 Question Id : 9277594386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e =<1/n>, A 3T B} UbfeP (ARICD) Upfd & IR H &1 g Jbd 22
Options :

1. % TpieP HHICIHD)

2. % UHfeted (HMICGad) 9¢ 38T 8

3. ¢ Uspfoted (AHIelaaa) g 8T g

4. % §¢d 3R ged gt

Question Number : 166 Question Id : 9277594387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The expansion of power series having R as the radius of convergence and x,a be any two points in R , converges if

Options :

1. # |x-a>R
2. ¥ |x-a]<R
3. % |x-a=R

4. ® nowhere convergent

Question Number : 166 Question Id : 9277594387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR &1 a1 &% &0 § R 9TeH UTaR 46aT BT faR 3R x,a R H ®is Ui &l fdg g, SRR giar g afe
Options :

1. % |x-a>R

2. ¥ |x-a]<R

3. # |x-aj=R

4. % Pl i SR 76T &

Question Number : 167 Question Id : 9277594388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What powers of x does expansion of sin(x) contains?
Options :

1. ¥ odd powers of x

2. # even powers of x

3. % all powers of x

4. # any alternate powers of x

Question Number : 167 Question Id : 9277594388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



x 1 B 1 UId sin(x) P fadR # Ffgd 82
Options :

1. ¢ x &1 favg grq

2. % x BT IH °1d

3. % xop gt g1

4. % x BT Bl dbIcUD °Id

Question Number : 168 Question Id : 9277594389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let (X,d) be a metric space then what can you say about X and d?
Options :

1. ¥ d is called metric and X is called ground set

2. # dis called metric but can't say about X

3. % both are called ground sets

4. % X is called metric and d is called ground set

Question Number : 168 Question Id : 9277594389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o {3 (X,d) T B W g al 3MY X 3R d F IR T 71 6 Tohd /7
Options :

1. ¥ d I ARCH FHgT 971 § 3R X Bl SMYRYT T BT Sl §

2. % 4 P NfeH BT A1 g Qb X & IR H 78! g Jhd

3. % G B MYRYT T HgT olldl §

4. % X D ACH BT Al § 3R d P AMURYT =T BT oIl &

Question Number : 169 Question Id : 9277594390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If we are given two overlapping sets A and B in metric space then what can we say about d(A,B)?



Options :
1. # doesn't exist
2. ¥ zero
3. # finite

4. ® infinity

Question Number : 169 Question Id : 9277594390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe g8 Afews W < sifdeaTdt Tq=r A 3R B AT U E 0 89 d(A,B) & IR T o1 g Yehd &2
Options :

1. % HI9G Tol &

2.¥ R

3. % gRfAd

4. % 3Fd

Question Number : 170 Question Id : 9277594391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let (X,d) be a metric space and Pn be the Cauchy sequence defined then {Pn} is
Options :

1. ¥ convergent
2. % divergent
3. % cauchy

4. % bounded

Question Number : 170 Question Id : 9277594391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AH o {3 (X,d) T B WA g 3R Pn IRUTT DI 3 IFH 8 Y {Pnl gl

Options :




1. ¢ AR
2. % ORI
3. % PHEf
4. % UREg

Question Number : 171 Question Id : 9277594392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let (X,d) be a metric space and E is contained in X , E is called nowhere dense set if

Options :

1. ¥ closure of E is empty

2. % closure of E is finite

3. # closure of E is not defined

4. % closure of E terminate after some steps

Question Number : 171 Question Id : 9277594392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M & fF (X,d) T Bfeds W g SR E, X ¥ GHIRA 8, E &I Fa! i Tu Iy T8} del ol ¢ afe
Options :

1. ¢ E & TR0 (FATR) Tlell &

2. % E T YR (AR URIA B

3. % E &7 a0l (GNER) TRHIRT T 2

4. % | P YR (FARR) FS RN & §1¢ THI BIdT &

Question Number : 172 Question Id : 9277594393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement states that "Every complete metric space is of second category"?
Options :

1. ¥ Baire sandwich theorem



2. % Baire category theorem
3. # Cantor Theorem

4. * Fundamental theorem

Question Number : 172 Question Id : 9277594393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P11 B BB & b "IdD qui Afees W gy 9ol 18"
Options :

1. % SR Yefoa iy

2. ¢ ST Uit TRy

3. % HR YUY

4. % A YUY

Question Number : 173 Question Id : 9277594394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In metric space which function is always continuous?
Options :

1. # discrete function

2. ¥ distance function

3. % continuous function

4. * bounded function

Question Number : 173 Question Id : 9277594394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Afed T A I T A gHR FRAGR gid1 /2
Options :

1. % 3rgdd (fepie) werd

2. ¢ R A



3. % gdd bad
4, % URIgG B

Question Number : 174 Question Id : 9277594395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f is a continuous function from X to Y , then this property is called ?
Options :

1. ¥ continuous invariant

2. # continous variant

3. # distance variant

4. ® completeness of metric space

Question Number : 174 Question Id : 9277594395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e £, X ¥ Y I Tad e &, df I8 0 &I Hgl ol 82

Options :

1. ¢ Tad 3aRad-g Eatem)
2. % Tad uRkad (@3sre)
3. % g aRkad @31sre)
4. % AP T & goidr

Question Number : 175 Question Id : 9277594396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following metric space is not complete?
Options :

1. #® set of real numbers

2. ¥ set of rationals

3. # set of complex numbers



4. % gset of irrationals

Question Number : 175 Question Id : 9277594396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafiad # 3 F a1 dfcs W9 gof 78 &2
Options :

|. % ARfde GRAT3M BT 9=

2. ¢ UREY DT =Y

3. % ity Jersl ol Gy

4. % URTY BT IT=

Question Number : 176 Question Id : 9277594397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let (X,d) be a metric space and let B be a subset of X then if B is closed then B is also
Options :

1. ¥ complete

2. % compact

3. # bounded

4. % unbounded

Question Number : 176 Question Id : 9277594397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & 6 (X,d) T A W § 3R B &1 X $T I ¢ 1 afe B g g Y B +ft g
Options :

1.¢ quf

2. % {qYdq

3. % UREw

4. % UNEG



Question Number : 177 Question Id : 9277594398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inner automorphism corresponding to every element of an abelian group is?
Options :

1. ¥ trivial

2. * non trivial

3. * infinite

4. % bounded

Question Number : 177 Question Id : 9277594398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI THE & TS dd & =Y TR W& (SHeHIhoH) g2
Options :

L v g (fgdtem)

2. % 31w (A fedtsrm)

3. % 3Fd

4. % OReEG

Question Number : 178 Question Id : 9277594399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group is called abelian if it satisfies property.
Options :

1. ¥ commutative property

2. # associative property

3. % existence of identity

4. % existence of inverse

Question Number : 178 Question Id : 9277594399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T g & SATSferd gl oIl ¢ fe a8 e &1 TP IRl B |
Options :

1. ¢ AT T

2. % gl T

3. % JgdM & 3Kd

4. % GohH D] KT

Question Number : 179 Question Id : 9277594400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every element of a group G when expressed as internal Direct product of a,b,c,...z if and only of every element is uniquely expressed as ?
Options :

1. ¥ G=ab.c..z

2. ® G=atbtct..+z

3. ¥ G=a-b-c...-z

4, % G=atb-c...z

Question Number : 179 Question Id : 9277594400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G H1 YA Tferc 9d ab,c,...z b HTARS U UG & FU H ad (bl IIdT 8, Had aHl ofd U Terde &l Ay Su d
o T SiTaT 82

Options :

1. ¥ G=ab.c.z

2. ¥ G=atbtct....+z

3. # G=a-b-c...-.z

4. ¥ G=atb-c...z

Question Number : 180 Question Id : 9277594401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If a group G is internal Direct product of its subgroups A,B,C.,....Z then G is isomorphic to
Options :

1. # internal Direct product of A,B,C...Z

2. ¥ external direct product of A, B, C...Z

3. % ABC...Z

4. ¥ it is not isomorphic

Question Number : 180 Question Id : 9277594401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T G U SUIHG! A,B,C,....Z BT 3HTdRS UFe SdIE g df G & forg gt B
Options :

1. % AB,C..Z . BT MR Y& UM

2.¥ A, B, C...Z . BT S Y& UHH

3. % ABC,.Z

4. % g8 qUTHRI T8l §
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Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 181 Question Id : 9277594402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The external direct product of two cyclic groups is

Options :

1. # always cyclic
2. ¥ need not cyclic
3. % abelian

4. ® never cyclic

Question Number : 181 Question Id : 9277594402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AL {-IJ-LLG\I'W dTel Y& UMb %I
Options :

1. % QU T

2. I GHT RN ol
3. % rafere

4. % B ThIY TRl




Question Number : 182 Question Id : 9277594403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the smallest non cyclic group.
Options :

1. ¥ k4

2. % @8

3. % abelian group of p order

4. % Matrix group

Question Number : 182 Question Id : 9277594403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oY BIC 3fTh g YHg I A Farsy|
Options :

1. ¥ k4

2. % @8

3. % p DI BT STeferd T8

4. % 3Yg g

Question Number : 183 Question Id : 9277594404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are no. of elements of order 100 of Z(200)?
Options :

1. ¥ 40

2. % 80

3. % 120

4. % 160

Question Number : 183 Question Id : 9277594404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7(200) & ¥ 100 P TferHc Pt TTT T 82
Options :

1. ¥ 40

2. % 80

3. % 120

4. % 160

Question Number : 184 Question Id : 9277594405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Multiply (12 3)and (564 1)?

Options :

1.¥ (156423)

2.%(123456)

3.%(234567)

4. % 363738)

Question Number : 184 Question Id : 9277594405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TOT Y (123) 3R (564 1) 2
Options :

1.¥(156423)

2.%(1234506)

3.% (234567

4, % (363738)

Question Number : 185 Question Id : 9277594406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following group is not normal under usual ring operation?
Options :
1. % 7ssg
2. % 5ssg
3. % 3ssg
4.9 2 ssg

Question Number : 185 Question Id : 9277594406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 1 Wi 9 7 SRR & ded 9 el 82
Options :

1. % 7ssg

2. % 5ssg

3. % 3ssg

4, 2 ssg

Question Number : 186 Question Id : 9277594407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let k be the number of the p-ssg of a finite group G. Then

Options :

1. ¥ k divides O(G)

2. ¥ k doesn't divide O(G)
3. % k doesn't exist

4. # %k bipolarates

Question Number : 186 Question Id : 9277594407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AF o P k U IR THg G & p-ssg @ G=AT g1 dl

Options :




1. ¥ k, O(G) & fauTiSTd erar 8

2. % Kk, O(G) B fauTira T8 dar g
3. % L Oc T8 8

4. % kWW%

Question Number : 187 Question Id : 9277594408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(z) 1s analytic function whose real part is constant then f(z) is

Options :

1. ¥ constant

2. % Function of x only

3. * Function of y only

4. % Function of x and y both

Question Number : 187 Question Id : 9277594408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul f(z) AP e ¢ ForgepT ardfde HRT RIS & @ f(2) &
Options :

1. ¢ RRI®

2. % DHad x BT Ha

3. % $Had y BT Ha-

4. % x ﬁ?ya:ﬁmtb_ﬂ:f

Question Number : 188 Question Id : 9277594409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Does C-R equations are necessary and sufficient for a function to be analytic?
Options :

1. # TRUE



2. ¥ FALSE
3. % can't say about nature of equations

4. # depend on range of functions

Question Number : 188 Question Id : 9277594409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fp el the & aRaIN I o AT C-R FHIHR0T SfTa=Teh TR Ui g2
Options :

1. #* 9

2.9 Y

3. % GHIDHRUN Bt UPpfd &b IR H a1 g Fobd

4. % A P IR R HRarg

Question Number : 189 Question Id : 9277594410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that" An integral function attains every finite value with atmost one possible exception?
Options :

1. ¥ Picard's theorem

2. % Jensen's inequality

3. % Jensen's formula

4. % Schwartz' lemma

Question Number : 189 Question Id : 9277594410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI I I Hadl § (& QUi g Bad gaaH T JHTAd 3fuare & 91 g SiHd Jed U SRl 82
Options :

1. ¢ TS Uiy

2. % Sg-3gfH®T




3. % SR
4, % oI¢ oHl

Question Number : 190 Question Id : 9277594411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is order of convergence of coshVz?
Options :

1.* 0

2. ¥ infinite

3. % one

4. % two

Question Number : 190 Question Id : 9277594411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cosh\'z & SHTURIRUT BT HH T 67
Options :

1.* 0

2. 3Fd

3. % Up

4.% T
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277594412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the importance of discussion method in teaching?
Options :

1. ¥ Stimulate critical thinking

2. % Activate Learning

3. # Initiate Talking

4. % Guided Conversation

Question Number : 191 Question Id : 9277594412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreror & =it ugfa ®1 T AR 82



Options :

1. ¢ wifde Fad &I TdTied BT
2. % IfTH Bl Jichg BT

3. % §1d LF Bl

4. % Adfa garg

Question Number : 192 Question Id : 9277594413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who decides textbook curriculum?
Options :

1. # the government

2. ¥ the State Board of Education

3. # the education minister

4. ® the principal of school

Question Number : 192 Question Id : 9277594413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UISTYIS UTSUhH B o Il 82
Options :

1. ¥ AWDPR

2. ¢ T Renars

3. % fRrem =

4. % fATTeTY 1 GUHER

Question Number : 193 Question Id : 9277594414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teachers comprehend the relationship between different concepts through which visually illustrate the relationships between concepts
and ideas.

Options :



1. % Concept graph
2. ¥ Concept maps
3. # Concept charts

4. % Concept diagrams

Question Number : 193 Question Id : 9277594414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i&;{w@ﬁf‘wmwﬁ%aﬂawehﬁ & TATEH W YAIAE FRd § off SFUROMSHT iR 3R] & o9 & daei o Wy ¥u 4 fafa
I

Options :

1. % GHeg1 Ah

2. ¢ Yo HHH

3. % S[EYRUT ATC

4. % HHeUHT 3RY

Question Number : 194 Question Id : 9277594415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The school should aim at developing .
Options :

1. ¥ Social, moral and spiritual values.

2. # Political and spiritual values.

3. % Economic, political and social values.

4. ¥ Emotional, Moral and political values.

Question Number : 194 Question Id : 9277594415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe erde Qelyd s g Akl

Options :



1.  qrATfoTe, Afde SR sefds el |
2. % JoHIaE R SMeaTfarsd Yoo |

3. % 3M1ffe, IS SR IS Jed |
4. % UGS, Afded 3R IeHIfdd Jed |

Question Number : 195 Question Id : 9277594416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which kind of family allows a woman to marry more than one man?
Options :

1. ¥ Polyandrous family

2. # Polygynous family

3. # Monogamous family

4. % Extended family

Question Number : 195 Question Id : 9277594416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 TR &1 URAR T AR &1 T ¥ $1f% Toul I faare & &1 3rafd a1 g2
Options :

1. ¢ §gUfde URaR

2. % ggiddre! (UferTay) gRdR

3. % UpHiddle! (HANTHY) GRAR

4. % fa¥qd URaR

Question Number : 196 Question Id : 9277594417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following strategies which strategy can not be employed to make students conscious of gender issues which would result in developing
an attitude of gender equality?

Options :

1. #® Film analysis



2. ® Analysis of Biographies
3. # Analysis of data collected from Interview
4. ¥ Society analysis

Question Number : 196 Question Id : 9277594417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeRyd YoM & S I UM BT ST S B [T Tgl & Ui SRR B o 104 g 19T off Fahdl g fords UIRUMHGER=Y
e THTAT BT 2P fasRid g

Options :

1. % forew fazeivo

2. % THBYISH 1 fazayor

3. % TP R Y UhHAd fidbal ol fazawu

4. ¢ UG faZawom

Question Number : 197 Question Id : 9277594418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is correct Objective of teaching English?
Options :

1. ¥ Literacy development

2. # Develop self-study habit

3. # Develop the ability of appreciation of ideas

4. ® Develop knowledge

Question Number : 197 Question Id : 9277594418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TST UM &1 ol Se=d DI A1 52
Options :

1. ¢ Hrardl fabr



2. % WY DI 3Mad [AHRId DRl
3. % TOORI B TR B B &HAT [dBRIT BT
4. % M [APRIT BT

Question Number : 198 Question Id : 9277594419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following skill is a sociological term relating to a person's "EQ"?
Options :

1. ¥ Soft skills

2. % Hard skills

3. % Social skills

4. % People skills

Question Number : 198 Question Id : 9277594419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeed § O S 91 S T fdd & "EQ" V Heifdd JHSIRIRG Y Teg 82
Options :

1. ¢ EEIRG S (Flte Rpad)

2. % BIS Rpe™

3. % [HIIS DI

4. % AP DI

Question Number : 199 Question Id : 9277594420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Piaget’s learning theory does not revolve around which pillars of schemas?
Options :

1. ® Assimilation

2. % Accommodation



3. ¥ Assessment
4. # Equilibration

Question Number : 199 Question Id : 9277594420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T SR R ST 3 et inh] 3 98 T o
Options :

1. # HTHTH U]

2. % VY (ABTHSIM)

3. ¢ 3[hdd

4, % A0l

Question Number : 200 Question Id : 9277594421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Often referred to as the skin sense, the ~ involves touch, movement and body positions in space.
Options :

1. # Kinesthetic Sense

2. ¥ Tactual Sense

3. % Sense of Smell

4. % Sense of Hearing

Question Number : 200 Question Id : 9277594421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRR T IAT & =Y § ST ST 8, T ST o R, i 3R YRR &1 id gt g |

Options :

1. * TaddfT @raRis 99)
2. ¢ CHIHA I

3. % TyrYfd




4, % YA SAl



